(v We will have to move ......... the city to reach there.
(Add suitable preposition)

(vii) Smriti ran to the store ........ (Add suitable adverb)

(vii)) My uncle visits us ......... (Add suitable adverb)

(ix) The alarm kept squnding ......... (Add suitable adverb)

(x) She behaved ........ she lost it. (Add suitable
conjunction) 7

5. Whrite a paragraph on any one topic in about 200 words :
() Value of Reading,
(i) Importance of Communication skills.
(i) Social Media,
(iv) Health is Wealth. 8

1401/7050/KD/415 8
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ENGLISH
Paper : FD-111

Time : Three Hours] [Maximum Marks : 80

Note : All questions are compulsory.

1. (a) Transcribe any four words : 4
abuse, woes, inert, autumn, warning, summon, bowl, refitse.

(For Blind Students)
Give word meanings of any four words :
sluggish, enormously, hearth, slumber, chant, consider.

(b) Give antonyms as well as synonyms of any four words
whole, tyrant, comic, curse, protest, worried. 4

2. (a) Answer any jour using a word/phrase/sentence
(i) Why was the journey so difficult?
(i) What did the narrator of '"With the Photographer’
say about "the ears"?
(i) What is Otima's attitude towards Basu? (‘Pigeons at

Daybreak')
(iv) What kind of a bullock did the peasant buy? (Bellows
for the Bullock)
1401/7050/KD/415 . [PT.O.
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®)

(v) Who lighted the Panchlight in the end?
(vi) Why did Gangu want to resign? ('The Child")

(vii) What had happened to the dog's tail? (‘The Blind
Dog)

(viiiy Before partition, which place was the 'whole world'
for Maanji? ('The Refugee") 4

Answer any six questions in 50 words each : 12

(i} How did the old 'Sardar’ couple react to the news of
the impending partition? (‘"The Refugee")

(@ On what note does the story "Pigeons at Daybreak”
end?

(i) How did the Thugs cheated the simple peasant?
("Bellows for the Bullock™)

(iv) What did the narfator say about his own face? ("With
the Photographer)

(v) Assess the brother-sister relationship as described in
the story "The Journey."

(v) What strategy did the peasant in the guise of a
Hakeem use to send the sons away? ("Bellows for
the Bullock™)

(vii) How did the musicians behave that evening in the
story "Panchlight"?

1401/7050/KD/415 2

(viil) How does Ganga convince the narrator that it is
wrong to marry Gomti? Is the narrator convinced?
(“’I‘h.e C‘hﬂdﬂ)

(ix) Describe the life the dog led afier being sef free
from the blind man? ("The Blind Dog)

3. Attempt any three questions in about 150-200 words each: 21

(i) Who is Gangu? How does he try to justify his desire to
marry Gomti? (‘The Child')
(i) How did the Panchlight prove to be a boon for Godhan?
(‘Panchlight’)
(ili) Bring out the element of humour in 'Bellows for the
Bullock'.
(iv) Describe the life of Ma_anji in Bombay. ('The Refugee")
(v) With reference to the story 'The Journey', write about the
natural beauty of the North-East of India.
(vi) What impression do you form about the photographer?
("With the Photographer”)
4., (a) Do as directed (Attempt any Twenty) : 20
@ I do not tell a lie. (Change into Interrogative
Sentence)
@ It is a beautiful day. (Change into Exclamatory
Sentence)
@) Ourteam made a wonderful record. (Change into
Exclamatory Sentence) ,
1401/7050/KD/415 3 [P.T.O.



(v)

I..... (have/had) submitted my assignment.

Rose smells sweet. (Change into passive)

(Add past perfect verb form) (xix) Shruti said that she had written the article. (Change
73 S S, (do/does) he like reading graphic novels? | into Direct Speech)
(Add present indefinite verb form) ' (xx) "We are travelling to Mumbai next week," my
(vi) Make a passive sentence using the helping verb i neighbour said. (Change into Direct Speech)
Lis I =
Was {(xxi) Add the appropriate tag question :
(V) seerrenennnns you mind helping me? (Add a suitable
I never tolerate such nonsense.
modal verb)
(vil) Work hard lest you ....... fail. (add a suitable modal (xxdi) Make sentences of the following homophones :
verb) Bold, bowled.
(ix) Make sentence of your own using a modal verb to (i) Make sentences of the phrasal verb : Come across
denote permission. ; (xxiv) Make sentences of the phrasal verb : Back up
........ i ir lunch in the hotel.
I P (xxv) Make sentences of the phrasal verb : Abide by
(Correct form of "be")
x) My luggage....... (have/has) arrived.
(xif) None of the students ....... (arranges/arrange) these (®) Do as direcied (Attempt any seven) : 7
folders propetly. Ty - —— bit weak yesterday evening.
(xii) One of my classmates ............. (belong/belongs) (Add appropriate article)
to Assnim, 0 — man who is in the queue is my neighbour.
(xiv) The ltallest of these girls ............. in 10th class. (Add appropriate article)
ofi
(eziis] 517 QORI nights are shorter during .......... summers.
(xv) The staff secretary, as well as the staff (want/ ) ]
5 e . i (Add appropriate article)
wants) to raise this issue in the meeting. _ . .
(xvi) My sister gave me a book. (Change into passive) (v) I will se.end you the fatmall ............... this meeting.
(evi)) You will have to write a letter. (Change into (Add suitable preposition)
passive) (v) They will need the approval ..........coueue. today.
{Add suitable preposition)
1401/7050/KD/415 4 1401/7050/KD/415 5 iF. L.



7. TFHidiEd oegiTS R % SWNT TS 9 &
TH F 2
(%) VTS ®T Ul T AH 87
(@) ek & @ = F1 9 fafag)
(M = TE % T e 9w fafey
() TEW F T FET EEHe w1 AW fafeg)
() & = = 9fe= = W fafey
(%) dfouE % e 7=t ® Torw oiR Tty =1 frs
fFen T 77
(®) ‘<t wie famfe, s =t g o' Al o o
EGIE
(%) AR 99K BR fafed € s & I fafan)
(1x8=8)
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Paper : FD-112

Time : Three Hours] [Maximum Marks : 80

e ;. w T sthEd B
1. Toafefen & § &< 0 el = wwen =men
IS
(%) '"ag 7l 3w weRe | v wig % foe faw
e H R i w o, # R w0 T w1
aTg fier gon SifvR Big fan, S9%1 98 smm
™ SHifed W gy o W % wiE T % e
TWE TR-sfed 1 g g
(@) ''fgu 99 wes-Fiem & HROR ¥ §5 &,
-9 % 4T ¥ TH Hieht AR SER F M A
FR| BTSN TR TTETHl, 7 39 e, Aq Frefes
e e & fow e §1

(m ‘“forl % = i #1 ot S8 9w T fea
e <X B o T ol staeis Oy g Tl

¥ 9% 989 % Ol TmEd € ok ¥ W
fireepte, T iR g w1 R ¥ sTgw o § -
99 ot ¥ sreRt = A 87"
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(=) ‘et TeEif g e % T e g5 TR R
TR B de A S o e W oo 89, fawe
fova-AMa & WY =9 ey 81 TSt 1 HRe
AT § THA WG FR HU-R & fag gH 9w
T W W B YA W WHA ®l, WY T A
WER H UF T HH T T5d A @ I T ue
w2 (6+6=12)

frafafes & 9 frdt T8 W9 ®1 S S
‘YRl MeE % STUR W ERW hi. Sie-feem
fafem)
R
qew B TW@l @ MR W CyFeEiaA’ Tew W g
TS (8)
frfafed § 9 fFdl ok o & s difsT :
(%) ‘yeeatan’ Wew | afvla Hia-dis
(@) ‘ygoenfad’ es 9 el e W fEER o
2l
(M) ‘e’ TEE ® SYR R R R =R w W
feTad feifea) ‘
(9) ‘Yo TeF # e W w S
(T) ‘yaeae’ TRE % TE B FEHar WA
i)
(=) ‘yFrEE’ TeE B OFUANE W HEw  uRE
ot (4x4=16)

1404/4950/KD/597 2

4,

5.

6.

frefafes o o Bl < vl @ s e .
(%) wfses 51 fafa= oifeafl & sviv sl

(@) ﬂﬁﬁwﬁ‘ﬁﬁﬁn’aﬁwm%z’
(1) SRR He S W WE YR B aui wie)

() THHRET WO R YR S gl T8 WaRE W
mg‘[{zﬂqj (8+8=16)

frafafen # ¥ ) € T @ S foreT e

(%) 9 SEYA & YR W TH & WHY W YHR
el

(@) ‘eT=sN’ & wiEE ® IR § SR

(M) YA T IR SUN IRET &5 faw W erR
faaR were HINE

(%) e @) Gt iRl ) oW sl

(5+5=10)

freafafes § € &<l & W & Sw fafag
(F) W7 i ufReme, 378 9 WET I W STy

(@) WS | fHQ wed T2 TEe W % w0 H w5
At =t TEREme W TEET Sifem)

(1) s R oEhw oo Tafeu
(%) T SEArR guiERT % uiEd dfSe (5+5=10)

1404/4950/KD/597 3 [P.T.O.



How doos the Bhakii Movement effects the political

%
social, cultural and religious life of Indians. (16)
i oI X S B qeis, Tnfees, e qen
il e B S8 s fwar?

UNIT-IV (SFE-IV)

8. On the ouiline map of India, show the empire of Harsha.
Write an explanatary note also. | (10,6)
yRg 3 Y wEieE W w8 % wmed far @ qeiE
T e et i faray)

9. On the outline map of India, show the urban centres
under the Delhi Sulitanate. Also write an explanatory
note. (10,6)
e F Y@ AR W e wem B T el s
-] TeiEq) o Ses foumn 9 fafem)

1410/3100/KD/591 8

Roll

Time : Three Hours]

Note

1410/3100/KD/591/Map of India

P Total Pages : 6
1410
GSE/M-24
HISTORY
(History of India)
(600-1526 A.D.)
Opt. (@)

[Maximum Marks : 80

: Attempt five questions in all, Question No. 1 is compulsory.
Aftempt four more questions, selecting one question from
each uvm't. All questions carry equal marks. The part
related to explanatiory note on map will carry full marks
for visually handicapped candidates only.

;e i WAl % St T TR W 1 e S vaw

TR 9 T T & 99 FW gL, W 3T T # o
A Tt W S o wEE ¥ AR R e
e & weifem A A Sow sfeaun sttt @ fg g
& B
Compulsory Question
(etfeamd wyw)
Choose the correct answer. Each question carries
2 marks. (2%8=16)

sgfameda T A ¥ W SR 9 S 99 2 o
(i) Who has been called the Prince of traveilers?

(a) Fa-Hiyan
(b) Taranath

[P.T.O.
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(ii)

(ii)

(c) Hieun Tsang

(d) Hari Sen.

R BT TSRAR TR el T §2
(F) WIH I

(@) T H

(1) TEET B

(w) e =i

The first capital of Cholas was
(a) Kaveripattinam

(b) Kanchi

(¢) Mahabalipuram

(d) Tanjore.

<l 1 Tee e o

() HEQTE™

(@) il

(31) HETERATTE

(%) i

When did the first batfle of Tarian take place?

(a) In 1198 A.D.
(b) In 1190 AD.
(¢ In 1191 AD.
(d) Tn 1192 AD.

TWET 1 TR g6 B gel o7
(F) 1198 & ®
(@) 1190 & #
(m 1191 % H
(=) 1192 & R

1410/3100/KD/591 2

(iv) Who completed Qutub Minar?

)

(vi)

(a) Razia

(b) Tltumis

(c) Balban

(d) Althunia.

‘e W' W fEe U e
(%) W&

(&) Tegie

(1) FeEn

(=) sregE

Who was known as "Hazaar Dinari"?

(8 Qutbudin Aibak

(b) Malik Kafur

(¢) Balban

(d) Alaudin Khalji.

HeaR D0 R AW Y T WE ST o7

(F) HAGEA GEF
(&) #iws R

() weTE

(%) STesE Tees

‘What was the real name of Mohammad Tughiaq?
(8 Amir Khusro

(b) Juna Khan

(¢) Firoz Tughlagq

(d) Bami.

1410/3100/KD/581 3 [P.T.C.



HEtS ek =1 SEfes 9 = 17
() ok gE
(@) < @i
(M) = Tes
(=) ST
(vii) Who suppressed Mongols?
{a) Balban
(b) Aaram Shah
(¢) Sher Khan
(d) Bugra Khan.
Hire! w1 g feeen fear?
() s
(@) 9= "
(M) I @i
(=) I =
(viii) Which religion was emerged by the establishment
of Vijaynagar Empire?
(a) Buddhism
(b) Islam
(c) Jainism
(d) Hindu Religion.
Toem TR W F A @ e ol W O s
THA?
(%) sirg ot
(&) =™
(M) w5 o

(=) Ty wd)

1410/3100/KD/591 4

UNIT-I (F%E-1)
Give an account of the salient features of the administration
of the Harsha Vardhana. (16)

goad @ W @1 g fRwmell @1 aviE =i

Discuss the rise and growth of Feudalism under the
Rajputs. (16)
TSI w7 AR # wAm A @ e
EQIET

UNIT-TI (3%T3-10)
Evaluate the objectives and effects of Mahmud of
Ghazni invasions. (16)

HEWE TSMEl & STHAV] W SeRdl U8 UWEl &7 9uie
ER I

Describe the economic reforms of Alauddin Khilji, What
were its merits and demerits? (16)

s faest & enfels gurl @ faawo difg sas =0
o T TN A7

UNIT-TII (SoT$-HI)
Critically examine the administration reforms of Firoz
Tugulag. (16)
sl o & JEiEE Ul s SRS 9o
EqiS

1410/3100/KD/591 5 [P.T.O.
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GSE/M-24 1417
HEALTH AND PHYSICAL EDUCATION
(Theory)
Time : Three Hours] Maximum Marks : 60

Note : Attempt five questions in all, selecting one question from
each unit. Questions No. 9 is compulsory.

AT : TOF TE Y TEH T W W W G, B/ W
W FfeT T gem 9 IR R

UNIT-I ($oE-1)°
1. Define Health Education. Explain in detail the Aim and
Objectives of Health Education. 10

e e @ SR S B SWe WEd 9 Se% Wi
RS TS|

2. What is First Aid ? How will you provide 'the first aid in
case of snake biting and bleeding? 10
Tefts e 9 87 99 % =Y 9 TiER WA
Y Wofts WEEE YEH HAL?

UNIT-II ( geTe-11 )

3, Write down the contribution of Sports Authority of India
and Indian Olympic Association in the development of sports.
10

e B WS § TR Aeis O W T &
e § dEE o 9viE S

1417/1,450/KD/41 (P.T.O.
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Define sports policy and explain in detaii the National Sports
Policy. 10

T M w ofeaE wR gE WEE TN A w5
ETd

UNIT-IIT (‘geRTE-III )

5. What do you mean by physcial fitness 7 Explain in detail
the importance of physical fitness. 10
TRRF gfe § oM o aue 87 vRfe g @ wEw
1 fERgEs auH H

6. Write short note on Isometric and Isckinetic. 10
aTgarifer ok emediTmAfes SR W el W

UNIT-IV (S&E-1V )

7. Explain in detail the types of bones. 10
shesdl & TR w1 RERE®m aud wl

8. What is joint ? Describe the freely movable or synoviel joint
in detail. 10
sie ford wed €2 orfifim iy o Sl W fawawgew
U

UNIT-V (SHE-V)
Compulsory Question ( 2T+ard w9w)
9. (a) What is Health Supervision ?
(b) Meaning of First Aid.
1417/1,450/KD/41 2

(¢) Importance of Health Education.

(d) Haryana sports policy.

(e) Define NSNIS,

(ff What do you mean by explosive power.

(2) Define speed.

(h) What is Adaptation Ability ?

(i) What is spongy bone ?

(i) Define Irregular bones. (10x2=20)

(%) W Friem = 82

(|) wefhs e W el T W
() e fom w1 w0 oHES ®7

(M) wfaEmen |@w i

(<) NSNIS &I afteftm |

(=) foores i @ o o TR 82
(®) i I wR

(¥) IR A S e 87

(%) wisht afy vl ey ®2

(=) eeuaftem orfedl w1 wRefE w1

1417/1,450/KD/41 3
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MUSIC (VOCAL)
Paper-I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one
question from each unit, All questions carry equal marks.

e : TOF TR A ¥ Y W W UH T B 99 &0
T, /A Ui T P SR AN el v & eiw

T
UNIT-I (gehe-1 )
1. Give full description of Raga Vrindavani Sarang and Kafi
Raga. (4+4=8)

W gEr GRS s T o et ofew A

2.  Write notation of drut kKhyal of any Raga from your syllabus.

8

oo weEwmH d € TR o w@ ww W wrfaly
TafEm)

3. Write short notes on the following :

() Alankar.

(b) Varna.

(¢ Khyal.

(d) Tarana. (2x4=R)
1418/700/KD/40 W [P.T.O.

20/5



6l

(F) SRR
(®) Tl
(1) =

(=) auA

UNIT-TI (S=E-11)
Difference between Margi and Deshi Sangeet. g
mft e 2En Wi W R S
What do you know about Alankar? 8
sEFR B R ¥ e F WA ©7
Write down the full description of Jhaptal with ekgun and
dugun Laykaries. 8
TuEe & g e AW g R UE T w9
fafel

UNIT-III ( s )
Throw light on musicial contribution of any ore of the
following musicians : (4x2=8)
(a) Pt. Omkarnath Thakur.
{b) Ustad Abdul Karim Khan.

1418/700/KD/40 2

frefafeg § @ feel ‘TH' OOGRR % W6es A0
T YRR Sy :

() Wied SHsR-T SR

(@) WS | W Tl

Wiite Tilwara with ekgun and dugun layakaries. 8
A faeErs | T 91 T Rl farau)

Write the life history and contribution towards music of Ustad
Abdul Karim Khan. 8

SR e ST TW w1 S Ui oR wih % Ul
IreE fafaw

1418/700/KD/40 2



q H fEen S W €2
(1) 6
(=) 7
(%) 8
) 9.

(viii) “Caste is the most important political party in India”,
whose statement is this?

(a) Rajni Kothari
(b) Jai Prakash Narayan
{¢) Morris Jones

{d) Prof. Srinivas.

v H Wi Weerel TeHfR g9 81" W TR
el

(37) T =hioR

(I) @ TR AREG

(=) A 9

(%) AR sl

1437/2,700/K1D/35 6

| 24 B ——— Total Pages : 6
GSE/M-24 1437
POLITICAL SCIENCE
(Indian Politics)

Paper-II, Opt.(3)

Time ; Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks. Question No. 9 is compulsory. Each question
carries equal marks (16).

e ¢ fEEl ot ovHl ® SR AT 9l we % oiw wom
B e e 9 sifEd R YEE WA ® S (16)
T T

1. Discuss the area of conflict between Cenfre-State relations.

Fru T @ A W @ &9 W W W

2. Discuss the emerging trends in Indian Federalism,
O R W 3w TRl W o=m W

3. What are the major defects of Indian Electoral System? Make
suggestions to reform the Electoral System.

ﬁmgﬂmm%mﬂﬂw%?wmﬁ
R % g ggm <

4. Explain the main determinants of voting behavior in India.

IRd # #F=W =ER & g Rule! o s ol

1437/2,700/KD/35 [P.T.O.
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s.

7.

Discuss the impact of regional political parties on Indian
politics.

TR TR W AT TeHios S % gWE W) oS
Ead!

Discuss the various pressure groups of India and the working
system of pressure groups.

ug ® fafe <o wE O T wgEl w0 ed ol

W == B

Explain the role of Religion.in Indian Politics,
IR TG A oH @ qfaer e s

What are the causes of Regionalism? How to remove this
Problem?

g ® HRUT F E? T NN W w9 g R W
TET 72

Multiple Choice Questions :
i@aﬁm 9 .
(i) According to the Indian constitution, India is
(a) True federalism
(b) Mixed federalism
{(¢) Unitary state
(d) Union of states.

1437/2,700/KD/35 2

(if)

(ii)

I WiaE # oEER uRe 2
(1) H =1 HuaR

(3) s HeEE

(W) THHE T

(%) T&E & gl

Education is a subject of which list ?
(a) State hst

(b) Centre list

(c¢) Concurrent list
(d) None of the above.

fran frm = = fawm @2
(37) T T
(%) &5 T
(®) wwae g
(%) St ¥ & wg e

Anti-defection law is related to which Constitutional
Amendment?

(@) 42

(b) 44

() 52

d 73.

1437/2,700/KD/35 3 [P.T.O.



Toes R wrA RO Sowfrr ST ® qefEE HOT T W ORI F gg A

€ (30) 1975
L) 2 (%) 1885
W e (=) 1987
52 (%) 1887
(%) 73.

(vi) Who is the national President of BIP?
(2) Narendra Modi
(b) Rajnath Singh
{c) J.P. Nadda
(d) None of the above.

e S TS ey BN 87

(iv) Who is the chief election commissionor of India ? .
(a) Rajiv Kumar
(b) Sunil Kumar
(¢} D.Y. Chandrachud
(d) None of the above.

9RE 1 e TERE 0EE BN 82

P (1) TR W&
(@) T ww Py i R
(w) SaE. =TS (W) S, W=
() svf W ¥ FR Aol (3) s ¥ € =wE
(v) When was the Congress Party established? (vii)How many Union territories in India ?
(&) 1975 | (a) 6
(b) 1885 b 7
() 1987 (c 8
(d) 1887. @ 9

1437/2,700/KD/35 4 1437/2,700/KD/35 5 [P.T.O.
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GSE/M-24 1442

COMPUTER AWARENESS (Level-T)
[Basic Computer Education (w.e.f 2018-19)]
(Qualifying)

Paper — L1-(I)

i Time : Three Hours} [Maximum Marks : 100

Note : Attempt any five questions. All questions carry equal marks,
e : FE ¥ W T HeY o wh B w8

1. Define the term operating system and its fypes.

IREEH Tl TR SR T TSN hl SIRET HIE

2. In contexi of Windows as an Operating system, explain :
(2) Start Button.
(b) File and folders.

* e = e ¥ ww TRewem TRl & w9 %, Smemn
| e -

(F) VR =1

(@) WEA R Hee

3. (a) Write4 features of MS-Word.
(b) Discuss Word art.

1442/1750/KD/363/Trans. 7),‘2( [RT.0.



6.

(%) TAEE-9€ #! ¥R TRl fEfem)
(@ =2 wen @t fag=wr =wiww

In context of MS-Word explain :

(a) Line spacing.

(b) Textalignment.

T-98 * WsH o = wifNm s
() T T

(@) Te9 diem

(a) Define Move and Copy in Excel,
(b) Explain IF statement with exampfle.

(F) T § 79 Ok wmd w wRefw sl
(@) IF F¥F I SJEW & WY @ Hifagl

Explain Chart Wizard in Excel, prepare a Pie chart as an
example,

e ¥ 9¢ B W wew sy, W SR B
w § @ 9 TR g

Explain use of PowerPoint as presentation software, take an
example of "Computer Parts" and prepare 5 slides for students

display.

FAR A HT IFEW O Y T SRR &
¥ ¥ YeRaEE ® STER W R BEl B yEeH # fnu
5 RS W TUR wiN

1442/1750/KD/363 2

9.

10.

(@) Discuss use of Sound and Animation in PowerPoint.
(b) Explain concept of slide views.

(F) TeROEE ® e SR TR % SwEm sy s
Hiteg|
(@) TOMES 9 &i EUNIN S T Hitwg)

Write features of MS-Word as Desktop publishing software.
e IRl @RI % TY ¥ WE-uE W
oo frfer)

Write note on Mail-Merge.

Aa-A9 ww R fewh feferd

1442/1750/KD/363 3



Boll. NG «cwsmmmmmsmmns Total Pages : 3

GSE/M-24 1472
MATHEMATICS
(Number Theory and Trigonometry)
Paper-BM-121

B.A.: 27

Time : Three Hours] [Maximum Marks : {B'Sc. « 40

Note : Attempt five questions in all, selecting one question from
each section. Question No. 1 is compulsory.

Compulsory Question
1. (a) If ais odd, show that o2 = 1 (mod 8). 1%(1%)
(b) Find highest power of 7 contained in 10000 1%(1%%)

T .. T
) If x,= cos-é?ﬂ smg » prove that xy, Xg, X3, wvereeenes

P | 114(1%5)

(d) If sinlog (#')=a+ib, find @ and b, 14(1%)

(¢) Prove that tanh™x=sinh™ ; 1(2)

L
SECTION-I

2., (a) K 2*+ 1 is an odd prime number, show that n is a
power of 2, 2Y4(4)
1472/2,300/KD/38 [P.T.O.
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(b)

3. (a
(®)

4. (@)

(b)

(b)

6. (@

(b)

7. (&)

Solve the congruence 15x = 12 (mod 21). 2%4(4)

Show that 248 = 1 (mod 105). 2v5(4)

I (p-1}! + 1 =0 (mod p), then show that p is a prime

number, 244(4)
SECTION-II

Find all the integers that give the remainder 2, 6, §
when divided by 5, 7 and 11 respectively.

Show that § (15%) = &(15) x 1551, where % is a positive
integer, 2%4(4)

Find all » such that d(n) = 10. Hence find the least
such value of n. 25(4)

Using Gauss Lemma, show that 3 is a quadratic residue

(mod 13). 2Y4(4)
SECTION-ITI

If o, B, be the roots of the equation :

%3 + px? + gx + p = 0, prove that

tan~L o + tan~! B + tan~! ¥ = n7 radians, except in one

particular case. 2%(4)

Show that

25 sin® 0 cos? O = cos 66 — 2cos 46 — cos 28 + 2.
214(4)

If o and B be imaginary cube roots of unity, prove that

—X

ce® + ﬂ.e'g" =—g? [\E sin%x +cos —‘é—éx] . 244(4)

1472/2,300/KD/38 2

8.

G

(a)

(b

(b)

If sin(@ + i) = tan o + i sec ¢, then show that cos 20
cos 2¢ =3 214(4)

SECTION-IV

Prove that ;

lo 1 =lo lcosecg +i E—E 1
g - g 5 ) ) 215(4)

Separate tan! (x + #y) into real and imaginary paris.

215(4)
Prove that :
log tan (%+%i ):z‘tan'l (sin hix) . 2V4(4)
Sum the series :
1 1
cos Q—Ecos 26+ gcos ., SO, oo, 2V4(4)

1472/2,300/KD/38 3
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GSE/M-24 1412

ECONOMICS
(Micro Economics-IT)
Paper-1
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 and 2 are
compulsory. Attempt remaining three questions selecting
one question each from any of the three units out of the
four units. All questions carry equal marks,

qe : g{A UE W ® SR AT TR Wenr 1 ek 2
sfaE € WY AN Tl ® S SR e § ¥
et @ ol § € Um-Uw W W WO S
T W ® ¥m GHA T

1. There are a no. of firms producing a good in the market and

charging the same price from all the consumers. Answer
following : (4x4=16)

(a) Which concept of market is discussed in above case?
Explain it.

(b) 'What are the assumptions of market structure discussed
above?

(c) What are the conditions of SR and LR equilibrium in
above discussed market structure?

(d) Explain the supply curve under this market.

1412/1,950/KD/31 [P.T.O.
6/5



2.

AR W RRE O W SEEA w AR oWe B
o syl @ wow wiwd okl © Frefafew
T ® SW e

(F) TR I N 9ER % fF9 w9 & == B
2?2 i Wi

(@) STRIF T A H WS F A9 i)

() s § AEE W ST WNR % Gged Wi
feafa =1 a0l =ifsm)

(%) SR S % S W |l wikw

(A) Choose the correct answer : (1><5=5§“

T feew o .
(i) Under which market structure firm is price taken”

(@) Monopoly

(h) Oligopoly

(c) Perfect competition

(d) None.

frg aeR feofy § wd S wiers o 87

(&) THITHR
() STeUEHR
() T W@
() =K i 7=

1412/1,950/KD/31 2

i’?_

(i)

(iii)

Under which market form, a firm can earn
abnormal profit in the long run?

() Monopoly

(b) Perfect competition

(c) Both (a) and (b)

(d) None.

TR ® W v X wd dwm A
S wH s W owsd 3

(1) TR

() gof wieEifm

(¥ () T (M) F

(R =8 ;==

In which market from seiling costs are required?
(@ Perfect competition

(b) Oligopoly

(c) Monopolistic competition

(d) Both (b) and (c).

TR e W faw o w2
(&7) goi wfcmnfia

(F) TR

(9) T whEfm

() (/) R (W) =Hi

1412/1,950/KD/31 & [P.T.O.




(iv) In perfect competition VMF} is

(V)

(@ MPP; x AR

(b) APP; x MR

() APP; x AR

(d) None.

oo SR VMP, e &
(81) MPP; x AR

() APP, x MR

(9) APP; x AR

() =K ot

Loanable theory of interest is also known as
(a) Classical

(b} Neo-classical

(¢) Monetarist

(d) None.

=R fagie = oW T @ s W €
(=) I

(F) -

() Tt
(%) ®iE «F =

1412/1,950/KD/31 4

(B) Match the following : (1x5=5)

©

(a) Normal Profit
(b) Single firm

(c) Product Differentiation (iii) D. Ricardo
(d) Qnuasi Rent

(i) Monopoly

(@) Shortrun

(iv) Oligopoly

(e) Saving (v) Income-consumption

e = frem wifee-

(1) W T (1) TR

(3) Faa T HH (i) SATIRIA

(W) g faeg (i) & =l

(T) SE @I (iv) STTMEHR

(=) F=d (v) 3U9M R A B
fershan

Short Answer Questions : (2x3=6)

(a) Define derived demand.

(b} Define pure competition.

(c} Selling costs.

Y SEiE Wwe—-

(37) =T A H ARA R
() gs IR = aREm il
(%) foma @

1412/1,950/KD/31 5 [P.T.O.




UNIT-I ( 55E-1)

3. Explain Price Determination in Perfect Competition. 16
oof s § @i Fake w =wer Sk
4. Explain different forms of Market. 16
SR % fafis w9 #1 saren st
UNIT-II ( $erT3-1I )
5. Discuss price and output determination in Monopoly. 16
THIEHR § e qen SR Rl @ s W
6. How price and output determined under price discrimination?
16
Fd faudimtor ¥ w0 9 SRR W faRe 3
22
UNIT-IH ( 3erE-11 )
7.  Explain features of monopolistic competition. 16
TSRS gREite w5t et @1 gy it
8. Explain features of oligopoly. 16
sRuiieR w1 fadimmell = sren sy
1412/1,950/KD/31 6

UNIT-1V (ShiE-IV )

9. Explain Ricardo theory of Reat.
el & @ fasia w5t =rEn i

10. Examine Loanable funds theory of interest.

wuEr Y i S we i

1412/1,950/KD/31 7
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31201
BHE/M-24
ENGLISH
[Literature in English (1660-1750)]
Paper-1II
Time : Three Hours] [Maximum Marks : 80
Note : Attempt all questions as per instructions.
SECTION-A
1. Explain with reference to the context. Attempt any

three :

(1) Sinking he left his drugget robe behind,

‘ Born upwards by a subterranean wind.

The mantle fell to the young prophet's part,
With double portion of his father's art,

(ii) Three things another's modest wishes bound,

My friendship, and a prologue, and ten pound.
Pitholeon sends to me "You know his Grace,
I want a patron; ask him for a place."

(ii) As to our City of Dublin, shambles may be
appointed for this purpose, in the most convenient
parts of if, and butchers we may be assured will not
be wanting; although I rather recommend buying

the children alive, and dressing them hot from the
knife, as we do roasting pigs.

31201/300/KD/554 ab [PTO.
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(iv) Shut, shut the door, good John! fatigu'd, I said,
Tie up the knocker, say I'm sick, I'm dead.
The dog-star rages! nay 'tis past a doubt,
All Bedlam, or Parnassus, is let out:
Fire in each eye, and papers in each hand,
They rave, recite, and madden round the land.

(8x3=24)
SECTION-B

Attempt any two questions :

(i) Aftempt a critical appreciation of the poem
Macflecknoe.

(i) Comment on “An Epistle to Dr. Arbuthnot” as
typical example of Augustan satire.

(iii) Does Swift suggest any reasonable solution to
Treland’s famine in “A Modest Proposal”? Elaborate. .

(15%2=30)
SECTION-C
Satirical poetry in Augustan Age.
OR
Religious upheavals in Augustan Age.

Development of essay in Augustan Age.
- OR
Mock heroic poems during the Augustan age. (13%2=26)

31201/300/KD/554 2



ROl NO. cerenrmeersnne Total Pages : 3

31202
BHE/M-24
ENGLISH
[(Literature in English (1660-1750)]
Paper-1V
Time : Three Hours] [Maximum Marks : 80

Note : Attempt questions in Sections A, B and C as per directions :

SECTION-A
1. Explain with reference to the context any three of the
following :

(a) Yes, my dear Snake; and I am no hypocrite to
deny the satisfaction I reap from the success of my
efforts. Wounded myself in the early part of my
life by theenvenomed tongue of slander, I confess T
have since known no pleasure equal to the reducing
others to the level of my own injured reputation.

(b) Women are armed with Fans as Men with Swords,
and sometimes do more execution with them. To the
end therefore that ladies may be entire mistresses
of the weapon which they bear, I have erected
an academy for the training vp of young women
in the exercise of the Fan, according fo the most
fashionable airs and motions that are now practised
at court. The ladies who carry fans under me are
drawn up twice a-day in my great hall, where they
are instructed in the use of their arms.

31202/300/KD/743 : [ET.O.
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(¢) He is a gentleman that is very singular in his
behaviour, but his singularities proceed from his
good sense, and are contradictions to the manners
of the wotld, only as he thinks the world is in
the wrong. However, this humour creates him no
enemies, for he does nothing with sourness or
obstinacy; and his being unconfined to modes and
forms makes him but the readier and more capable
to please and oblige all who know him. When he
is in town he lives in Soho Square. It is said he
keeps himself a bachelor by reason he was crossed
in love by a perverse beautiful widow of the next
county to him.

(d) What the plague, have you no bowels for your own
kindred? Odd's life, do you take me for Shylock in
the play, that you would raise money of me on your
own flesh and blood? (3%8=24)

SECTION-B
Attempt any two of the following questions :

Assess The School for Scandal as a perfect example of
satire on the life style of the contemporary society.

OR
Comment on the screen scene in Act IV of The School
Jjor Scandal.

31202/300/KD/743 2

3. Comment on Addison’s view on the role of women as
orators.
OR
Write a detailed note on Addison as an essayist.
4.  Discuss Steele as an essayist with reference to the essays
under study. '
OR
Write a critical note on the social and literary importance
of The Spectator. (2x14=28)
SECTION-C
5. (a) Write note in about 400 words each on any fwo of
the following :
(i) William Wycherley.
(i) John Locke.
(iif} Thomas Shadwell. (2%6.5=13)
(b) Aitempt short note of about 200 words each on any
three of the following :
(i) Daniel Defoe — Robinson Crusoe,
(ii) Samuel] Butler—Hudibras.
(iii) Samuel Richardson —Pamela.
(iv) J. Thompson —Seasons. (3%x5=15)
31202/300/KD/743 3



N

(viii) “The concept of son of the soil” s related to which

of the following tendencies? ~ Roll No. .iviricnsaee " Total Pages : 6
(a) Communalism 31214
(b) Casffmsm' . BHE/M.24
(z) Rogionalism . POLITICAL SCIENCE
‘(‘) Nong of the above. (Indian Politics)
AT T 9on” 1 Hey Frefefe ¥ 9 g Paper-I
wfE g 82
(37) 9urErE Time : Three Hours] Maximum Marks : 80
(%) wifiar
(|) e Note : Attempt any five questions. All questions carry equal
(%) TR F & 5 T8 marks (16)
AT : ol e el % SW AR wh v % (16) ot
T B

1.  "Indian Constitution neither Unitary nor Federal.
Explain it.
"t e 7 @ e R T @ )
FHUF I RS W

2.  Discuss the emerging trends in Indian Federalism.
WA WEER o SwRdr v s i

3. Critically describe the composition , powers and functions
of the Indian Election Commission.

TR HAE RN B W, iR ek owRl om
ST g0 %Y

31214/100/KD/702 [P.T.O.
14/5
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6.

Discuss the Problems and Solutions of the Indian
Electoral System.

Wﬁa@mﬁﬁmﬁ@mwmw
i)

Discuss the Nature of the Party System in India.
I Selld sqemen S Ui @ 9ol B

Write a detailed note on Aam Aadmi Party (AAP).
ST AT T (879) W ww forgw e fad

Discuss the Role of Religion in Indian Politics.
I Tt A o wt gfre Wt w5y

Discuss the Challenges before Indian politics,
I TSI BT ST g8 SR F vl wifw

Multiple Choice Question :

ﬂ?ﬁﬁrﬂﬂa‘ EL
(i) How many subjects are given in the state list ?
(a 97
(b) 66
() 47
(d None of the above.

31214/100/KD/702 2

(i)

(i)

31214/00/KD/702 3

T el e fow R g §7
(1) 97

() 66

(|) 47

(2) SWed & | ®E el

How many union territories in India Presently?
@ 7

{r 5

(© 9

(d) None of the above.

aiae # e ¥ e B s Wy §

(1) 7

(7 8

(¥) 9

(3) ST § @ wE TN

Who has the authority to establish the Inter State
Council?

(a) President

(b) Chief Justice

(¢} Prime Minister

(d) ‘Governor.

Sl TR e e 1 SifeR fres uw 82
() Tegafey,

(&) gea i

(¥) warwst

(%) T

[P.T.O.



(iv) When was the first non-Congress government
formed at the Union level?

(@ 2014

®) 1999

© 1984

@ 1977, o

THE R W TS AR R-HilEt TR P 517
(1) 2014

() 1999

(=) 1984

() 1977.

(v) In which article of the Indian Constitution is there
a provision for the Central Election Commission?

(a) 370

() 280

(c) 352

(d) 324.

TR Wi ® fe eogedk | SR g SN

T EYE 87

(1) 370

(=) 280

(4) 352

(%) 324,
31214/00/KD/702 4

(vi) When was the Bahujan Samaj Party established?

(a) 1984

(b) 1980

(c) 1985

@ 1989.

agaﬁ GHIS UiEl i T A g or?

(31) 1984

(¥) 1980

(¥) 1985

(%) 1989.

(vii) Presently who is the Chief Election Commissioner
of India?

(a) Rajiv Kumar

(b) Sanjeev Kumar

(¢} Narender Modi

(d) None of the above.

TR § 9Re ® ged Fafe o s 27
(37) TSiE AR

(8) Heig FAR

(¥) =& 96

() ST § | FE 7

31214/100/KD/702 5 IP.T.Q.



TE & e W w82
(30) T AR

() uHz JuE

(%) e e

(X) st ¥Rl

(viii) When the Consumer Protection Act came into force in
India?

(a) 01 January, 1986

(b) 24 October, 1986

(c) 24 December, 1986

(@ 15 June, 2005.

E H IUERT WEe efutEm s g e e
(31) 1 wadt, 1986

(9) 24 =R, 1986

(9) 24 =R, 1986

(%) 15 A, 2005.

31215/150/KD/460 6

Roll No; winsmmnsawii Total Pages : 6
BHE/M-24 31215
POLITICAL SCIENCE
(Contemporary Political Science)
Paper-11

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks.

T : BT WT WA HAG T TE B o wEE
1. Explain the ;neaning, nature and scope of Political Science.
16
TeAifes fomm & ord, wfy ol &= = =wen wifvw

2. What is Post-Behaviouralism? Explain its characteristics, 16
S-SHEERAR RN 87 Toeh! fadivast @t e Sk

3. Describe the meaning, characteristics and scope of Political
Theory. 16
Terfoer fagra o1 @, femmel R & # Rl
Hife)

4. Write a detailed note on resurgence of Palitical Theory, 16
TS e @ TideN W faww dw fafau)

31215/150/KD/460 *V pTO.
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S. What is Political Culture? Discuss its types and importance,
16
TSHIRER TSR T 8?7 Wb ThRI SR e w1 quly
i
6. Write a detailed note on End of Ideology. 16
feRam % ol W fawe ow ot
7.  Critically examine the theory of Feminism. 16
TR Toer &1 i T S
8. Define Right to Information Act. -Explain its various
provisions. .16
o % Afwr sfufem ® il ST o
fafr= auml # sren s
9. Objective type questions :
TS YER & YA ¢
(1) Who is the father of Political Science?
(2) Mill
(b) Plato
(c) Aristotle
(d) Marx.
31215/150/KD/460 2

(i

(iii)

31215/150/KD/460 3

Torifw oM &1 foms =W 27
(31 fra '
() ==

(F) oRF,

(%) Wil

‘Which decade marked with the resurgence of Political
Theory?

(a) 1920s

(b) 1950s

(c) 1970s

(d) 1990s,

e # Torife foer & Toun ® w9
fafea fen T @2

(27) 1920 =

() 1950 =HI

(W) 1970 I

() 1990 I

Political Science is part of which discipline?
(8) Science '

(b) Social Science

{c) Arts and Langnages

(@) None of the above.

[P.T.O.



@iv)

W

Terfifaer fomm fFe oTueR w am 87

() foIm

() gmIs faqm

(¥) when 3w ‘

(%) SWem H ® $E

Political culture word was used first time in which year?
(2) In 1947

() In 1950

(¢ In 1956

(d In 1960.

UoFifR WEpha’ YRR W VN wEweH feg od
geT or?

(e1) 1947 H

() 1950 H

(@) 1956 H

() 1960 Wi

Who is intellectual God father of the concept of
Behaviouralism?

(a) Lasswell

(b} Dawid Easton

(c) Plato _

(d) Charles Merriam.

31215/150/KD/460 4

(vi)

31215/150/KD/460 5

FAERER, FH STAURM FT AfeH fome wm 82
(1) wrgs

(%) e $w=A

(@) =&

(%) = AR

RTT Act, 2005 came into fOrce on ...uvcvreersseeenne.

(a) 15 August, 1947

(b) 26 January, 2005.

(c) 15 July, 2005

(d) 15 August, 2005.

I W SR SAfUMEH, 2005 HE WA ST ...
(37) 15 oFRd, 1947 |
(9) 26 sE&Ed, 2005

(%) 15 ToE, 2005

(%) 15 TR, 2005.

(vii) Who is Education Minister of India?

(a) Narendra Modi

(b) Darmendra Pardhan
(c) Nirmla Sitaraman
(d) Amit Shah.

[P.T.O.
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(@) Hiftemes ® oER faa %1 qfeqr 5t seow #ifg i 127511 . [ P Total Pages ; 4
SR I BHE/M-24 31219
HfeeTs & IR TN A B A FaRu 8 | R
Paper-IIT
Time : Three Hours] Maximum Marks : 80

T : W WA erEE 8l

1. Trafafen w3 s fafeg:
(%) Fpuardfieq, & w@iam = ® AW 87
(@) e, & M Wi ¥ R Wi @2
() wwes e wd owT ¥ w2
(M) s 5 T W sfem wene e, S R7
(¥) TRk =t fot = #7 W R
() e fow & W= T R W s
(B) o H TN TG FE SR 27

(W) & TR woe W€ R we? (2x8=16)

2, (%) Fer ¥ ¥ sl & ooisl o OoET e Hig
(en) @ T wEr wy 7 wikkEstid, famesEge o

& =g

TSR e HEa W, Ty T v

31219/50/KD/44 4 ; 31219/50/KD/44 v 1o
14/5



(F) TG Tea= | 7 9=, T 58T FEFERm|
Teres it gasta o, e qoew @ e
(¥) IRoTeRcae=rIo:, SRR et
HER: WA WA, TR A Aireaad el
(%) Togr wif< 99 9™ oq:, Wik e Tum
fafgum
st YETer e v fafs aee = el
(2x5=10)
(@) Frefafes & @ ot o g @ o e
HIFT
q oA gwEsTeitar:
R
TEfEwa: =y fmegm: 6

3, (%) U%pa Wiedw & e # Tl wrE @1
Tuife e

1o
oo % wem @ W wR fafau 8

(@) fruaeded, & R W gfufisr @ =fe-fasm
Hitwal

SRE]

‘e’ T ogfE @ o s 8

31219/50/KD/44 2

4, (%) Fr=fafean & 9 A< o Tl @ wImeT Wit
(31) o1 YEANST:, GO fae
FrEagEsY wensfy W A wsEhin
(9) wns@ fiar ey fosel ofs o, wA=RiRmie-
Rk e G o
= gaREft Rywdit Sk aomgh: fF oS
FAE qEm|
(%) 7R fod | R e, ¥ uEd: uogem
RS
T T TR 9 T WG, W O
EaEsEEiE |

(%) TEYEERTHEH, TivEast 4t Tedey
i = i <fom, iy © il 2
Hfa:
(2x5=10)

(@) = | § el W R R WS S i
Toowmger e fafmm: e
YT
2GR Pl G e e s 0 B 6
5 (&) fnme & iR == ¥ & «@ww T
el
TR WSk H wAe = e i 8

31219/50/KD/44 3 [B.T.O.



HYS1

4 sfEeETeTE w1 S-S cate ol
fem = (16x1=16)

31220/50/KD/505 4

b
ey

ROIL NO. weveersainrsaisacenss Total Pages : 4
BHE/M-24 31220
SANSKRIT
Paper-TV
(e, RS =)
P
Time : Three Hours} d [Maximum Marks : 80

qAE G‘lﬂ'ﬂﬂ"‘lﬂﬁa’l‘i‘é‘;
{
= %)

4. Frefafos wEOUeRs Wl W S w

() ‘AR, AT 3?93:@11'9 foraror e

(@) ‘<A | e % R
Eal

(ﬂ)‘T@ﬁﬁﬁ@EﬁWWﬁﬁﬁmqﬁl

(1) <@ w e F T B w1 R

(@)ﬁﬂf‘ gfee Fousfam 1 wF © swmE
T

(=) ToeReaeE ST H1 WET  qEdih R

(3) ReeretasE o | Fvew # ot e w1 e

Ead
(=) fyeree J THia-faem & 9ok w0
(8x2=16)
31220/50/KD/505 4 [P.TO.
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>, frefefas # & et U TRV S GHET SEA FINT ; C 4 (m)fFfden # ¥ R T TERw @ HuGT S
(%) e FHRATY RSO IREEO YU R AT 2

T T SCITARRCTRAERE ARl e (=) "ol Tawem gwiser, TEOTREe TR
gorgdt W A ST FHAISTEAT, AR - S ST
- v TR, TS SaremiT gr " g fa

57 HIUAS: q&ﬁnmﬁ’a TSR IS ToEE HEARS |

mm ngﬂﬁr ECiT uﬁrwqmmm i
m—n%wrm ﬁﬁmﬁqmrza (10x1=10) Pl iy ) Bl Sl g
e fref W ww 9 g iwaat
(‘@)ﬁﬂﬁ@ﬁﬁ%'@'ﬁ.ﬁ HeTfed e | Fisfa 7 3 TmoR-TelvT s wed
(a7) FrfrRgt oI e S g e § ERa TR wEte | 9 sfeq
TS TR AEEa | wive sfa, oW @ s ¥ wEmy
e | TreEae, Tl SRRl (10xi=10)
(a)WETW?WWwWI 6'): i (@) f A frht T IR W sTeEERa ST wT ;

W X1= I

: | (1) "fasrarestt wumy TaETE SRRy e )

3, 'zived: eGSR ARAFW G TER oSt @ AT

i, w9 T o FhE IR W 9w {) (@) W = e SetEieeE S|
- (6x1=6)
. f?-ﬁﬁﬁﬁmml' 5 Tresfasm &t FumEsm © 9E W RRg ¥ s
Ha = T N FEAEoe (16x1=16) Eal

31220/50/KD/505 2 31220/50/KD/505 3 [BT.0.



the sick; and if they are good doctors and the choice 312331 s Total Pages : 4

were fairly to them, would rather cure their patient and 3801
lose their fee than kill him and get it. And so with ali the NRBAE/M-24
other brave and rightly trained men : their work is first, _: ENGLISH
their fee second-very important always; but still second. , Introduction to Prose and Basic Comprehension
' Paper : B23-ENG-201
(CC-2/MCC-3)
Time : Three Hours] {Maximum Marks : 70

Note : Attempt any seven short questions, selecting at least

one question from each umit. (7x2=14)
1. UNIT-I
(i) Why is tolerance, in Forster’s eyes, a “very dull
virtue™?

(ii) How is Lamb’s essay “Dream Children” a reverie?

(i) What did Bacon mean by "Some books are to be
tasted, others to be swallowed, and some few to be
chewed and digested"?

. UNIT-II
! (i) What is the first type of female orators that Addison
t mentions in his essay?

(v) How, according to A.P.J. Abdul Kalam, stories help
us?

(vi) What, according to R.K. Narayan, is the purpose of
education?

3801/12450/KD/1242 4 3801/12450/KD/1242 [R.T.O.
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UNIT-IIL

(vii) Write a short note on notice writing. |
(viil) Name the types of formal leiters.
UNIT-IV

(ix) Write a short note on resume writing.

(x) Write a short note on précis writing.

Note : Attempt any four questions.

2. What are Francis Bacon’s views on studies in his essay
“Of Studies”?

3. Which aspects of the general character of Englishmen
are revealed by Nirad C. Chaudhuri in his essay “Public
Transport in London and Delhi”? How are these different
from the make-up of a typical Indian?

4. Discuss Dr Kalam’s views on Goethe, Shakespeare and
Valmiki. What message does Dr Kalam give at the end
of the essay “Great Books Born Out of Great Minds”?

5. How does Addison use humour, satire and irony in the
essay “Female Orators™?

6.  Write a letter to the editor of a newspaper expressing your
views about the harmful effects of eating junk food.

3801/12450/KD/1242 2

7.  As a secretary of the Cultural Activities Club of your
college/institute, write a notice inviting the names of the
students to participate in the Talent Show and enlisting
the name of the events to be organized in the show.

8.  Wirite a resume for the post of an Assistant Professor in
a college.

9. Write a précis of the following passage and give it a
suitable title :
It is physically impossible for a well-educated, intellectual,
or brave man to make money the chief object of his
thoughts just as it is for him to make his dinner the
principal object of them. All healthy people like their
dinners, but their dinner is not the main object of their
lives. So all healthy minded people like making money
ought to like it and enjoy the sensation of winning it;
it is something better than money. A good soldier, for
instance, mainly wishes to do his fighting well. He is glad
of his pay—very properly so and justly grumbles when
you keep him ten years without it-iill, his main mission
of life is to win battles, not to be paid for winning them.
So of clergymen. The clergyman's object is essentially
baptize and preach not to be paid for preaching. So of
doctors. They like fees no doubt—ought to like them; yet
if they are brave and well- educated the entire object to
their lives is not fees. They on the whole, desire to cure

3801/12450/KD/1242 3 [P.T.O.
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NBAE/M-24
ENGLISH
(Literature and Society Exploring Social Issues
Through Literature)
Paper— B23-ENG-202

{DSEC-1)

Tinde : Three Hours] [Maximum Marks : 70

Note : Attempt five questions in all by selecting at least one

2,

3.

3802/650/KD/1243 oMo [PTO.

question from each unit. Q. No. 1 is compulsory.

Compulsory Question

Write short notes on the following :

(8 Comment on the title of The Great Gatsby.

(b) Importance of Independence aecording to Woolf.
(c) Why is Elizabeth Proctor accused of Witcheraft?
(d) Central theme of “The Negro Speaks of Rivers”.

UNIT-I

Why is Gatsby unable to put the past behind him? Why
does he demand that Daisy renourice her former love for
her husband?

Write an elaborate note on the theme of the American
Dream in the novel.

21



UNIT-II

4.  Why are men so rich and women so poor, according
to Woolf ? What are the historical roots for women's

poverty?

5. Why, according fo Woolf, have so many women written
under assumed--male--names?

UNIT-III

6. Write an essay discussing Abigail's plan to get rid of
Elizabeth. Is the play a fuifiliment of the spell she cast
in the woods with Tituba.

7. Write an elaborate note on the appropriateness of the title
. “The Crucible”.
UNIT-1V

8. Write a note on the style of Langston Hughes on the
basis of poems prescribed in your syllabus.

9.  Attempt a Critical appreciation of the poem “A Dream
Deferred”.

3802/650/KD/1243 2
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3803
NBAE/M-24
ENGLISH
(Language and Literature—II)
Paper : B23-ENG-203
(CC-M2)
(MPA-5 Year Integrated)

Time : Three Hours] [Maximum Marks : 35

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt remaining four questions selecting at least one
question from each unit. All questions carry equal marks.

Compulsory Question
1.  Attempt any seven short questions, selecting at least one
short questions from each unit :
(i) How can we cultivate good manners?
(ii) Why does Addison given the example of an ass?
(iii) How did Gandhiji's faith in vegetarianism grow?
(iv) What was the last request of the free-goddess?
(v) How did Aarti love her father?
(vi) Who is Gangu?
(vil) What is a letter?
(viii) Name the parts of a paragraph.
{ix) What are confusing words?
(x) Short note on Active Voice. (7x1=T7)

8808/7750/KD/1273 [P.T.O.



UNIT-1

How does the author explain the importance of good
manners?

What efforts did Gandhiji make to become an English
gentleman?

UNIT-1I

Explain with reference to the context

Yes, Aarti smokes all the time now. When I was a child,
it was considered wrong even for a man to smoke. But
today, I would not mind my daughter smoking if I thought
it brought her happiness. But it doesn't. The smoke she
creates is full of bitterness. And I cannot help her I can

only try to look after her body.

Explain with reference to the context :

But Otima Basu never heard such sounds, such
ironies and distresses. Quite pleased with all she had
accomplished, and at having half an hour in which to sit
down comfortably, she settled herself on top of a cane
stool like a large soft cushion of white cotton, oiled hair
and gold bangles. Humming a little air from the last
Hindi film she had seen, she opened out the newspaper
on her doughy lap and began to hum out the headlines.

UNIT-II

Write a paragraph in about 250 words on any one of the
following :

(a) Value of Punctuality.

(b) Noise Pollution.

3803/7750/KD/1273 2

Wiite a leter to the editor of & newspaper criticising
ragging in Educational Institutions.

UNIT-1V

Do as directed. Attempt any fen items :
(a) Change the Voice :
(i) The peon will bring tea.
(iiy The lunch had been taken by him.
(iii) You must obey the elders. '
(iv) Where was the car left by you?
(v) He acted upon my advice.
(b) Change the narration :
(vi) He said, "Open the door".
(vii) He says that his son will participate in the
State-level Cricket match.
(viii) The teacher said to her, "What an intelligent
girl you are!"
(ix) Mother said to Her daughter, "I am cooking
food for you.”
(x) The child said that he wanted to have sweets.
(c) Make sentences of your own in order to make the
meanings of the words clear :
(xi) Accept; Except,
(xii) Adopt, Adapt.
(xiii) Diary, Dairy.
(xiv) Peace, Piece.
(xv) Waste, Waist.

3803/7750/KD/M1273 3
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9.

UNIT-IV (3o3-1V)
On the outline map of India, show the important sights
of Harappan civilization. Write an explanatory short note
also. (O+5=14)
YR % (@Rd AETE W GSW BRI WS R THE

Tl I SVIEY TR e S et o fafag

On the outline map of India, show extends of Kanishka’s
Empire. Write an explanatory short note also.  (9+5=14)

TR & (@i gFies W SiTF $ UUsg & iR
TEsy  =rerms wiiw feuh of fafeg
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HISTORY
[History of India (From Earliest Time to 1206)]
Paper : B23-HIS-201
(CC-2/MCC-3)

Three Hours] [Maximum Marks : 70

The question paper consists of nine questions. The
candidate is required to attempt five questions in all.
Question number 1 is compulsory containing seven short
answer type questions of 2 marks each. The candidate is
required to attempt remaining, four questions selecting
one question from each unit. The map question will be
carrying 9 marks for the map work and 5 marks for
explanatory. For visually disable candidates, the part
relating to the explanatory note will carry full marks.
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1I

Compulsory Question
(etfErE we)
Write brief notes on following :
(a) How many Mandals are there in Rigveda?
(b) Write the name of Mauryan Dynasty Capital.
(c) 'Which was the capital of Harshavardhana’s Empire?
() Which Indian king fought against Mahammad
Ghori at Tarain in 1191 AD?

(¢) In which palace Gautam Buddha delivered his first
sermon?

(® Who was called India’s Napoleon because of the
Victories?

(g) Whose reign in Indian History was called the
Golden Age of India? (7%2=14)

/1 W witm ot fafeg .

(F) % & fne wUsH 2

(@) Oe qeEw w5 T @ e R

(M) wdadT TEEE FY TEeE S oft?

(%) - 9RaE G 1191 € ¥ WeeE N ¥ e
AHS W W asi?

(F) TERT 9% 3 WU SRy we

(&) HE-H TSH ST ol & SR 9RG B G
EXSICIF

(®) T wm 9 siem A 9 wiEe
HEART?

3811/10900/KD/1279 2

2.

UNIT-I (FE-T)

Write an Essay on the town planning of Harappan

Civilization. (14)
FEU WA W TR Ao R Ty fad)
3.  Write an account of life and teachings of Lord Mahavira.
(14)
TR & Siem qen fogmell w1 gl St
UNIT-II (Sehis-1)

4. What do you understand by Ashoka Dharma? Discuss
the measures adopted by him for spreading it. (14)
argier & o ¥ oo 37 T TER & A se =
ERi B ERs

5. Give a detailed account of Adminisiraiive S}:stem of
Gupta Empire. (14)
T AR i TRIIE saee = fSaR ¥ 9o St

UNIT-III (3ems-100)

6. Discuss about the rise and growth of Cholas. (14)
e & um 9 famwm o gl wiEy

7. Analyse the immediate and long-term impacts of the
Turks invasion on India. (14)
TE W YH B AHACT B ARHIAE 9 SO gAE &
Tereermor HifEQ)
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3.

4.
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9. ‘g3 s IoE @ A9 fedl
3814/2350/KD/1238 2

10.

11.

12.

13.

14.

FoElae gaaun A fi3w3t @ dies n2 soaet

T3 feree Ao 99t 53| (7x2=14)
giee dar
femms dnit fomst A8 98 Gust @ Qoraes fub
A

feRms w3 fofonr feRne feu &t wizg 37 Gewos
AfI3 MRS &3l (3%x1=3%)

Hiuw & ufssr w2 yIs fdua & Geuge fek)
7
fe& (3%x1=3%)

35 fod nidisg (IR feg' 8s) fuese (7 feg fifs)
W o 8-¢ HYT §39
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{a) Promotion.

(b) Urgent.
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Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory. All questions
carry equal marks.

e : TES - ¥ UHR W BT W9 BN BY, B W g
% TR e T wew 1 afer ¥ wd e % el
A €l

Compulsory Question

(frerE wy)

1.  Answer the following in brief :

(a) Write fwo differences between Micro and Macro
Economics.

(b) Differentiate between real flow and monetary flow
of income.

(¢) Define the concept of Money Illusion according to
Keynes.

(d) Define Net Domestic Product at Market Price.

(e) What is secular consumption function?

3817/4500/KD/1300 [P.T.OC.
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(f) Define involuntary unemployment.
(2) What is value addition?

Tfeied & 8T ¥ S ST
() =i 9o gufe oo ¥ 9 Si=R forau

(7x2=14)

(@) o1 & aEias yare K dife Yo o o) W
EdIE

(1) B IGER G G w22

() IER T R TS R, @R H1 GRAf@ w3

(&) defepTei IUHET Wer w87

(F) efifes® SRS & gffre

(B) Wemad =y 872

UNIT-I (STE-1)
Discuss in detail the nature and scope of macro economics.
14

i 13 i 9Hia @R & & faer ¥ ==t it

Define national income. How can we measure national
income by using the Product method? 14

T o &) uienfog =i s fafy =7 e o 2n
T 379 H1 W 5 FHER R AH 82

UNXY-TI (ohTé-10)
‘Full Employment is normal feature of capitalistic
economy.’ Critically elaborate the statement. 14

‘oot ASEIR geitarst stefeaaen F e fomiee 217 e
i STRASFCHS ST TS

3817/4500/KD/1300 2

9.

Elaborate Keynesian theory of Income and Employment.
14

M AR ISR & hafere fasia & foxm saren &3

UNIT-IIT (3T5-THD)
‘What do you mean by consumption function? Differentiate
between APC and MPC. Also discuss their technical
attributes, 14

ITEN e |/ Y N T €7 T ok w8
9 ST SAIEl S9! dEeihl favaret )OS ==t &Y

Critically examine the Psychological Law of Consumption.
Also discuss its implications. 14

SYHAT o FHlG TR T S STeeRReS e Sl
Tfearef =) ot == &1

UNIT-IV (3T8-IV)
What is investment? Elaborate its different types. 14

frawr w1 82 s o gl = fod=m Fif

Define Marginal Efficiency of Capital. Discuss the factors
affecting inducement to invest. 14

It &) Hieia SR w1 aRAfa Y1 feEw Ton 5
FHIfeR ] Al HR] W == Hil
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Time : Three Hours] [Maximum Marks : 70

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory. All questions
carry equal marks.

AT : TOF THE Y UH TS H WE BW gY, [ O T
% s G T wew 1 st 81wl v % s

a2l
Compulsory Question
( erfare weT)
1.  Short answer question (2x7=14)

(a) Write fwo functions of Legislature.

(b) Write iwo functions of Executive,

(c) Who is the exponent of the theory of separation of
power ?

(d) Who is the exponent of the concept of 1ule of law?

() Describe one merit and one demerit of federal
government system.

() Mention itwo differences between parliamentary
and presidential systems of government,

3820/11450/KD/1236 [P.T.O.
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2.

3.

(g) What do you understand by proportional represen-
tation system?

i 90T W9

(%) faurmsa & =t w1 f@fEw

(@) srunfas & € 59 fafay

() ViR gerER fagia # ftes i 82

() ®FE B IEE FT ORI B STE BT &2

(F) FaeTs TGS TR § U 0 SR U |9 w5 Al
EAIE e

(F) TS SR ey TN YUl & &l A Ty

(®) enqafae waffee wonet @ =0 woge 22

UNIT-1 (S%E-1)
What do you mean by Judicial review? Discuss the merits
and demerits of Judicial review. 14

=iy HEdET ¥ o7 = TR 87 e O TE 9
T U hifeIq)

OR (=1&ET)
Critically discuss the theory of separation of power. 14

Tife & gusH @ fagia S STEra-eE S SIS

UNIT-XI (3T5-10)
What do you mean by federal formx of government?
Explain the basic features of this system. 14

HETOTER TS WOel W S SHE 827 WoeHs S Wolelt
%1 foermes &1 9uiF ®item)
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8.

9.

OR (e@n)
What do you mean by Parliamentary form of Government?
Explain its basic features. 14

WO WET YR ¥ o T WHEe 27 S THE
fasme =1 s wifwul

UNIT-IH (FehTe-1I0)

What do you mean by political party? Explain various

types of political parties. 14

Terifeer < W 9 I qEE B7 Ao sa 6 fafve

WEHR AT T I

OR (&7eEr)

Critically examine Max Weber’s model of bureancracy.

14

g FeR & AIHEE! THEid $1 Seiremers gHen st

UNIT-IV (SHE-LV)

What do you mean by democratic governance? Describe
the conditions necessary for the success of Democracy.
14

ARAITSRR YA W 91 G982 A @ awemr & o
Fawes TR =1 9 Sl

OR (f#)
Critically examine Wabarian model of bureaucracy. 14

e & JafEs wed o SEeIAS T S

3820/11450/KD/1236 3
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Time : Three Hours]

Total Pages : 3

3821
NBAE/M-24
POLITICAL SCIENCE
(Gender and Law in India)
Paper : B23-POL-202
(DSEC-1)

[Maximum Marks : 70

Note : Attempt ffve questions in all, selecting at least one question
from each unit. Question No. 1 is compulsory. All questions
carry equal marks.

e : UeE THE W U W9 B 9aT B g4, H/A urer WA
+ SW Y v "o 1 FeE 7wt we ® ofw
|HE g1

Compulsory Question

(e weR)

1.  Short answer question (2x7=14)

(@)

What is the core principle of feminism?

(b) What does the acronym LGBTQ stand for? .

(¢) What is the primary purpose of the Domestic
Violence Act, 2005 in India?

(d) What major legal change was introduced by the
Criminal Law (Amendment) Act, 2014 in India?

(¢) Which article of the Indian Constitution guarantees
equality and prohibits discrimination on the grounds
of gender?

3821/350/KD/1472 L P.T.O.
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() Name two important feminist thinkers in India.

() Name two major feminist movements in India.

Higra ST 99

(&) Er %1 ¥ faga = 82

(@) LGBTQ = Wfas wm = 87

(M) wa H e few fufrm, 2005 =1 wafe Stym
I 27

(%) u@ | Ays s (Fnem) sfufem, 2014
R SH-T1 TIE A qRedT % R e e

(F) 9 Sfaum & SE- e TRl H TRE
I &R T @ onuR W dgea W U 82

(F) @ A} THE TR R $ W sad)

(8) 9fa # R THE THAE A AT |

UNIT-I (3%TE-D
2.  What do you understand by feminism ? Write a note on
the Waves of feminism, 14
TR ¥ 9 = FEE B2 THEE @ Tl W T A
e '
OR (37e21@)
Write 2 note on the origin and development of
feminism. 14
AR Ht IAE SR e | w e gl
3821/350/KD/1472 2

6.

8.

9.

UNIT-II (SehmE-IX)
What do you understand by patriarchy ? Write a note on
the basic features of patriarchy system. 14

Tyeran @ oM 0 WEER €2 Rraw ey W g
Togigarst w T e fed]

OR. (=31%7el)
Write a note on gender as social construct, 14

wriferes B & ®9 § o | Ak ')

UNIT-TII (3%TE-110)

Write a note on the history of women's Movement in

India. 14
are # Afee siider & hRE™ W @ e fad)

OR (7e5=T)
Explain the constitutional provision related to gender in
Indian Constitution. 14

e S | 6T @ i 98t weem 5 s men
|

UNIT-1V (SHE-IV)

Critically examine the domestic violence Act 2005, 14
e few sfufEm 2005 FY eTeeAE W6 W)

OR (31e5Em)
Write a note on criminal law amendment At 2014, 14
SIF HTA FeE TP 2014 W & A2 foE

3821/350/KD/1472 3
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3860
, NBAE/M-24
: HEALTH AND PHYSICAL EDUCATION
(Basic Anatomy and Physiology)
J Paper : 23-PED-201
(CC-2/MCC-3)

Time : Three Hours] [Maximum Marks ; 50

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 9 (Unit-V) is compuisory. All
questions carry equal marks.

AE : TAT THE U Teh T &1 999 H €Y, Hel i YAl
% IW N T @ 9 (FHER-V) eifEd 2 s
oAl W R WA B

! UNIT-I (35%-1)

1.  Clarify the meaning of Anatomy and Physiology and
elucidate its importance in Physical Education and Sports
in detail. (10)
YRR T e TR T Toa w1 o T & qen iR

Torem 9o B § 0% At &1 [FWR ¥ =mer 51

2. What do you mean by Cell? Elucidate the structure

of Cell. (10)

ST | = e €2 ST Wt G @ fwa 9l

Eadl _
3860/4100/KD/1120 [P.T.O.
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UNIT-I (Z&e-1D)
What are Joints? Discuss the types of synovial joints in
detail. (10)

Wis F 7 WEAfaTe (J9N) Sl % WeR w1 forww
e HIN|

Elaborate the various types of muscles along with the
diagrams. (10)
A @ &t g @ fas wfew aof w3

UNIT-IH (ShiE-100)
What do you mean by blood? Elaborate the constituents
of blood in Human body. (10}

R G F SAYE 2?2 AT IR A 1 % ] o fere
FolA Fem

Explain the different organs and their functions in
digestive system. (10)
TR T3 % fafv o 9 o et @ avl Fifs

UNIT-1V (3TE-1V)
Elucidate the structure of various organs of respiration.
(10)

A & o= o = dE = Seee &l

Elaborate the parts/organs and functions of wurinary
system. (10)
T U & AT/ a9 S @1 v wifu)

3860/4100/KD/1120 2

9.

UNIT-V (3F1E-V)
Compulsory Question
(oAfEE W)
Answer all the questions :
(a) What are the fwo parts of human skeleton?
(b) How many types of cells? Name them.
(c) Enlist the types of Tissues.
(d) Which are the two types of Blood Pressure?
(¢) What are the functions of Skin?
wft o B S e
(%) TFET HEE B AT SR BN 87
(@) S fra TR St a2 @ frah
(T) ST H TER H gEEs B
(%) T B HE-9 ' TER &7
(F) &0 & HA-BH @ FE 82

3860/4100/KD/1120 3
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NBAE/M-24 3370

OFFICE MANAGEMENT
(Fundamentals of Computer)
Paper — 23-OMG-201
(CC-2)

rime : Three Hours] [Maximum Marks : 70

Note : Attempt five questions including Question No. 1 and question
No. 1 is compulsory and selecting one question from cach
unit. All questions carry equal marks.

Az : T E 1 WY B9 O T wET 8t TR W 1
st € ok vow ToE ¥ U ueA wifau g TR
% % AN T

Compulsory Question (31 w9W)

. (a) Discuss any iwo uses of computer in the field of educa-
tion.
(b) What is the role of operating system in a computer
system?
(¢) What is a word processor sofiware package?
(d) Name any two application areas of a database system.
(e) What is a hyperlink? Write notes on types of hyperlink
with diagram.
(f) Write various views of looking at presentations in
PowerPoint.
(g) What is Office Automation?
3870/100/KD/1402/Trans. ¢ [P.T.0.
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(%) e = 45 § v & FE @ < s7Em 3 R
Hiferd|

(&) HR goneh | Welew et w1 g W=y 22

(N &€ IRW diwaR 9w w2

() e fomn & wE 9 9 SIyEm 86 B W TRy

(¥) TERlds w1 87 mRiEs § R ® i 9
Yy fevoi fafem)

(&) TERIES # TR W TR w i R #)
Tafem

(®) oifpe E=e = 27

UNIT-1 (3%TE-1)
(@) How a computer system is helpful in automation of
office? Give five reasons of it.
(b) Compare and contrast Hardware/Software/freeware,

@) fFe & @O ¥ FoRt Tl S wEs 92
TR W HRO R
(T) BETVHTRAT/EER B e R SR Fifg)

(a) Explain Keyboard of a computer system and give a brief
account of different types of keys.

{(b) Discuss confignration of a computer system on the basis
of size, speed and memory.

(F) HER YUMCH & HIEIE Hi sred Hiay iR fafas
YHR H Fhoa w1 dies faer Sfag)

3870/100/KD/1402 2

6.

3870/100/KD/1402 3

(@) R, T R M F AR W FEEE YO @
FIFRYA &1 fo@=n sy

UNIT-1I (S%TE-1I)
Define the following operating with example of each :
(2) Single User Operating System.
() Multiprogramming Operating,
(¢) Multitasking Operating System.
T&E % SAE & WY frefafen siRfEn s wiefn
FT
) Tamer ge efnfan fawen
(E) AEEHIET S
() Tl ST faw

With reference to a spreadsheet package define :
(a) Electronic spreadsheet,

(b) Function Wizard.

(c) Types of charts in spreadsheet.

Wevie e ® daof § wRvfm it
(F) TRTTH Wi

(@) wMHE Tl

M derfie 9 5F & wRI

UNIT-II (35T3-10)
Define the following terms :
(a) Text.

[P.T.0.



(b) Document.
(c} Fonts.

(@ Arrow Keys.
(e) Tabs.

(f) Space bar.
(g) Dialogbox,
Frfafer =i =1 afeafim S .
(%) H& Usl

(@) SEmE

(M H=FI

) T w=

(@) =4

(%) T R

(8) TEAM )

(a) Describe the various editing tools of MS Word.
(b) Describe various options of Page Setup.

(F) T.OE 58 & fafa= WuRe <@ @1 9oiv
@) U= Geerm & fafim famed) &1 aoiv =ifem

UNIT-IV ($%TE-1V)
Discuss :
(a) Creating a presentation using AutoContent Wizard.
(b) Creating a presentation using Templates.
(c) Create a presentation using various slide options.

== BT ; _
() SerFee Toee T ITEN Fh TF TGl SR

33870/100/KD/1402 4

(@ ey 1 SEMN T TH TR SR
@ fafr= wse fowmed! 1 ST F% TRt SR

9. (a) What are various services provided by E-mail? How does
it work?
(b) What are types of EDI (Electronic Data Interchange)?

(&) -9 T VM H 9 o v ged s S
(@) EDI (FA=ife 21 520) & WoR &0 &7

3870/100/KD/1402 5
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GSQ/M-24 1568
POLITICAL SCIENCE~II
(Indian Political Thinkers-II)
Opt. -(i1)
Time :; Three Hours] [Maximum Marks : 80
Note : Attempt any five questions. All questions carry equal
marks.
e ; 5l Ui T oW s O wft v ® ofw
A B

1. Discuss Jayaprakash Naryan’s view regarding partyless
democracy. 16

TATEN WEdaT & Wy W SEaYEm™ AwEY & ffER W
= H

2. Explain Dr. Ram Manohar Lohia’s view regarding the State.
16

T F WY W EL T TR Afed & e e sl

3. Discuss Mahatma Gandhi’s theory of End and Means. 16
TR M wien IR W % Tash w == s

4. Describe the political ideas of M.N. Roy. 16

™MW @ % wHkhE TR o gk S

1568/9,100/KD/438 [E.T.O.
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Discuss Jawaharlal Nehru's view regarding Democracy. 16

Tk & way § VORI Wew ® g &t o=
)

Discuss Dr. Bhimrao Ambedkar’s view about Hindu Social
Order. 16
By wmisem =ERem & WX A © s ereeER @
IR | T=

Describe Subhash Chandra Bose’s idea about socialism. 16
TAOER & R § gEY 9% 99 % fER w1 av el

Discuss the political ideas of Bhagat Singh. 16
Wi fig & Torifoe fomerl w ==t &
Multiple Choice Questions (8%2=16)

(i) When did the Gandhi-Irwin Pact take place?
(a) September 3, 1929
(b) March 5, 1930
(¢) March 5, 1931
(d) November 8, 1931.
M-3R wwe wE gen?
(a7) 3 famer, 1929
() § =&, 1930
(W) 5 =, 1931
(]) 8 wamR, 1931.

1568/9,100/KD/438 2

(i) Who is the author of the book "Discovery of India"?
(a) Dr. Bhimrao Ambedkar
(b) Shyama Prasad Mukherjee
(¢} Pandit Jawaharlal Nehru
(d) Deen Dayal Upadhyay.
“URE B G S TR B RS B 87
(a7) Bl st sfaEet
(&) v TER gEsh
(V) dfeq o EE
(%) MU SWEAm|
(i) Who formed the 'Forward Bloc'?
(a) DBhagat Singh
(b) Subhash Chandra Bose
(c) Rajguru
(d) Sukhdev.
‘BiEe =i W eA Teed Rear?
(&) W fHe
(9) g9 =% 99
(9) TSRl
(%) geral

(iv) When did Dr. Ambedkar adopted Buddhism?
(a) In 1954
(b) In 1955
() In 1956
(d) In 1957

1568/9,100/KD/438 ;. [P.T.O.



T sEEl 4 WIg o w9 ST (vii) When did the partition of Bengal happen?

(&7) 1954 & (a) 1905
(F) 1955 % ®) 1922
(®) 1956 & E;)) 1207.
(2) 1957 /1 i s W o D

(v) Who is the author of 'Ideal of Socialism'?

(a) Pandit Nehru 1) 1903

(b) Bhagat Singh (&) 1904

(¢) Mahatma Gandhi (W) 1906

(d) MN.Roy. (3) 1907.

‘emefeu ST WRfeRR W SEs B W2 (viii) Which Indian leader is known as ‘Loknayak'?
(1) 9. TEF | (a) J.P. Narayan

(@) s fiE | (b) Mahatma Gandhi

(%) Tere el (¢) M.N. Roy

() . T (d) Bhagat Singh.

(vi) Who had cstablished ‘Hind Kisan Panchayat'? ‘B ® W W TR i T s e S
(@) Chaudhary Charan Singh 2?7 -
(b) Dr. Lohia (1) SLA, AR
(¢) Mahatma Gandhi (|) TerE et
(d) Acharya Vinoba Bhave. (W) T
‘g Trum demEm’ W Toim feeR swemn o (=) W Tl
(37) =, =Ro1 THe
() = <ife
(&) WAl el
() o=d foEn WEl

1568/9,100/KD/438 < 1568/9,100/KD/438 5



7. Write one-word substitution of any eight of the given
expressions : 8x1=8

(i) The rule of the Law.
(ii) Something which is certain to happen.
(iti) Fit to be ecaten. |
(iv) A book written by hand.
(v) One who works agdinst cmev’s own country.
(vi) A place where Coins are made.
(vil)) Someone who Loves others.
(viii) One who is all Powerful.
(ix) Favouring one’s own relatives.
(x) A hater of Women. ~ .

8. Write an RTI application to get information about the
utilization of grants received from the state for the
development of village XYZ.

s . Or

As a Class Secretary write an Email to the Principal of
your College requesting him/her to permit your class to
go for an Educational tour. 1

1671/K/327/20,160 4

Roll No. coveevieeiecerrirenes Total Pages™: 4

GSQ/M-24 1671
ENGLISH

Time Allowed : 3 Hours] -

[Maximum 'Marlgs : 80
Note : Attempt all the questions'.
L Explain with referenéé to the context 10

All that glitters is not gold}

Often have you heard tha_t told:

Many a man his life has sold

But my outside to behold.

Gilded tombs do W(;I'H-IS enfold.

Or

I’H have my bond. Speak not agamst my bond. I have
SWorn an oath that T will have my bond. Thou cailedst
me Dog before thou hadst a cause. But since I am a dog,
beware of my fangs. The duke shall grant me Justice.—I
“do wondeér, thou naughty jailer, that thou art sv forid to
come ébroad with him at his. request.

2. Explain any two of the given terms : 2%2Y5=5

Tragicomedy, Heroic Play, Plot, Melodra.ma.
1671/K/327/20,160 - PT.O.-
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L

Answer any three questions in about 30 words each :
- (a) Who is Lorenzo?

(b) What is there in three caskets?

(c) What does Portia say about mercy?

(d) Comment on the Opening scene of the play “The
Merchant of Venice”,

(e) Describe the scene of Jessica’s elopement, 3x5=15

Answer any two questions in about 250 words
each: - 2x7s=15

" (a) Give a detailed description and write about the
= 'iiﬁp'o’rtance of caske’t‘ scemer

" (b) Draw a dctalled character sketch of Portia.

(©) Whatkmd 0“1"‘:{ relanonslﬂp do Antomo and Bassanio
share? Give dxdetailed answer, ,

Wnte a Tetter to the edltor ofa Newspaper about- deplorablc
condmon of roads in your area. -

or . ° = %
Write an application along with your resume to the Public

Relation Officer, Pioneer Ente:rpnses Ltd., Gurugram about
the post of a Receptionist. - 10

Write a precis of the followiné paégeiée and assign a
suitable title : : 10

e There >3s an enemy beneath our feet—an enemy more deadly
)' f@r hls complete lmparnahty’ He recogmses no Nanonal

-;:16"?1/1{!327&0 160 s dgal B 7 F -

-

-

1671/K/327720,160 3

boundaries, no Political parties. Everyone in the World
is threatened by him. The enemy is the Earth itself. When
an Earthquake strikes, the world trembles. The power of
a quake is greater than anything man himself can produce.
But today scientists are directing a great deal of their
effort into finding some way of combating Earthquakes
and, perhaps at some time shortly, mankind will have
discovered a means of protecting itself from Earthquakes,
An Earthquake strikes without warning. When it does its
power is immense. If it strikes a modern city, the Damage
it causes is as great as if it has struck a primitive Village.
Gas mains burst, explosions are caused and fires are started.
Underground Railways are wrecked. Buildings collapse,

Bridges fall, Dams burst and gaping crevices appear in

busy streets. I the quake strikes at Sea, Huge tidal waves
sweep inland. If it strikes Mountain regions, avalanches

roar down into the valley. Consider the terrifying statistics

from the past 1755: Lisbon, Capital of Portugal-the city

destroyed entirely. 1970: Peru: 50,000 killed. In 1968 an

Earthquake struck Alaska and the during the tremors the

state moved 80 feet farther west into the Pacific Ocean.
This is the problem that scientists face. They are dealing .
with forces so immense that man cannot hope to resist

them. All that can be done is to try pinpoint Jjust where

the Earthquake will strike and work from there, At least

some precautionary measures can then be taken to save

lives and some pr-Operly. (words : 271)

P.T. O.




(@) WR & @ TUREYe R
() T 99 & SEYRWM R FHRT STl

(H)m%maﬂﬁammaﬁw

7. Trefafer ot swfis o 3 s AR 10x1=10
(@) ‘amm @ e’ Few B oRw e S Am 2
(ii)ﬂéﬂa?%ﬁmrﬁm%vﬁ%%?
(ﬁi)éw%%ama-ﬁmwﬁqaw

€7 ,
(iv) i &1 Rt AR frefem gen em
(v)m%waﬂmmaﬁﬁﬁqmwm?
(vi) Tt St W wTE & wR-w §
(vil) ‘sig, Rl SuTw & SeE B 82
(vii) NEWS i3 % e st aoff @ sH-2 wos o3
87
(i) $°R F FE T T TRy
(x) B W TC T e W e e 3

1674/K/328/17,500 [

RO NB ciiinnsmessissmonsesans Total Pages : 4
GSQ/M-24 1674

HINDI COMPULSQORY
Time Allowed : 3 Hours] {Maximum Marks : 80

e wh w st §

1L fefefes & @ it € ) wwEn s
ThifeTg; : . 2x7=14

(%)

(=)

HH H AR Fg9T w1 § AW s
g ui ol SRrar % w9 wl @ faum g @
TF U G o= 90w § 5 w9 )
FH € HOREEY TR o STETER H SET R
RV F T KW TC A F W wemg ek
% B 2, o devEd widR W e
Ta 3 36 U gm @ 0% B fae e o
@ W @ 7 wa w7 8 W, st sy
THE § edig-oiel s fien o €, 99 Q
T HH H AR Fe@ D

T gt €8 B W 9 T T s @i s
AR 3H SURT | W g fE Uy W
yoH oo & wel @y 9w R ook
SieT # seH & faw w®

1674/K/328/17,500 L0



(1) ofFA 2agE ® TR T SE, wEee @ O
T T ok S Al SRR e T8 Sie

T € A U GURTE O, WA 9% e Wl .

a, § w9 s €, 99 gEEE g TR Sied

T e €, qE g9 o few W w—d 3

T e FEEFR e Se o=’

TR a8 @ San-"gE 1 v Fr welt gelw

gl ;

(¥) TEWS, YRER SR WEER A i I #
@ € T ¥ T s foum w@ owgs @
T 2 A TR @ omem # dAmE e e
=T 3@ ¥ Sl felt @ e F A S S
Fo B @ 99 7 IS & R T B, N9
Y H TER wed o1 S H TR W
STER @ A FH T T

e T o whee s ¥ el T W

wishes =g G 10
Sreefen O FEE SR UE w0 ST 150-150 weR
o e Sife  4x4=16

(%) ‘emen &1 I Ty @ T W SN

(@)*Wwaﬁwﬁmw.m%”w
wuT w e R

€)) ﬁmwzﬁaﬂaﬁmﬁﬁ;(ﬁmﬁr)w
=F-famo s

1674/K/328/17,500 2

(o) ‘e ® wed ¥ fgEdl St own wRy S
TS ©7 ‘

(@)‘ﬂimmaﬁ%ﬂnw%’ﬁvmmm
Tt

(99) ‘wEER W dee’ (e W oadam smeen H

S YRER AR S99 THHE ® B | S
= v 21 fog =i

amyfr TREmel wEm w1 IEs <9 g SuE WE
TgiEl W TSR Ehedl

U E

eRaoEl wmr ¥ IEE TeE-dicd  Twm wouywm
ST » 10
frefofeg © @ el @ & s S - 2x5=10
(F) BiEmEl @ 9iE |el w1 wErw iwm €
(@) eRENE Wi eI O e AR

(M) =EE W deRd % WY $e ¥6HY §owWe
Ed s

() TUepleshl o1 HikTw aRe™ sifwigl
frfefem o ¥ f @ % sw R Ix5=10

(&) UFFRA H ©WEY TEH YHR @ Hgd W)
THIT STy

1674/K/328/17,500 3 P.T. O,



8. ﬁwﬁﬁaaﬁﬁ@ﬁrmwﬁﬁw 2x5=10
(i) ‘EvEHEE W EEdl
(i) TfwET @ Wy K Al
Gi) W & B 9
(iv) eciwR ¥ ofqyE, THR iR SYNS|

9. Prefafer agis woi & sw difvmE- 10x1=10
() TFErer w MEs HA st aen fEew |
Gy TTEE @ o O ® 9R qosisE FEl e
Mg ?

Gi) ‘HEE H T S e s ¥ @2

'(iv) S Y RS W RN ST e fere
e fean?

v) oml& ® el F e 3?

(vi) URdE wifgd ® amEilw % wel @i Hiasl
w 97 Y S @2

(vit) et fosr & @ ferg wmEl & A

(vit) ‘@ =1 gwr femaa’ e A dew 59
a9 W 5 oge kWl &7 .

(x) ‘=9 fg & AWy 3gF & o & wi@’
‘srar’ fiEg W oTYR W fHEET WA B2

) Feu HY YRR & § enfed §uE &
v fafewl

1675/K/20/700 4

Rol NO. o

Total Pages : 4
GSQ/M-24 1675
HINDI (ELECTIVE)
Time Allowed : 3 Howrs] [Maximum Marks : 80

Mz gt ywa sifEE R

1

freafofen el W ¥ AR /A H OGN =
Hifee- 6x2=12

(1)

(ii)

iR @ e W 9 qW ] ® 9 e &
T @ qe R S Il % W WeM & el
Sed B T ol T @ee W wE fE oW e W
J o G B WY T SEd W S ¥ A e
Be ® fow wEd § Wl ' RN WL Wi W
w1 W <Al AR gdal T WA & e

et et o o wel UE S W e S X
o =R = ©fl 9E: w-ud ¥ 98 W@, 9 9
e g 21 O YoM Wien HITel § wed? U Sil hreasid

TR THE-HT @ HreE e ® €

(i) w19 S T T R U W U 9w F

ToER Tel d § BE TR ST TE SE =
Tt FE T o oS T e w8 9e TR
§ P drogde W oww v e #E
@, wEl off 9N =g R ST STIuSi
& Bl

1675/K/20/700 LEGQ;



(iv) shwm o =ife & 6 52 T iy g @i s
¥l @ w disd Hew ova B 2wy 9 gRE
TR OB R W B W g W e S
eGP TH ST T Tga e gRT &M S 87
w1 Tl w9 faw f o uw Soe wmr oW
TEFEA T

TR W B SURIE E S hed & e 8- 39
T wt foEE Wit

st
‘MY A B9 ST W W W OWE S 7

frafafen sl & 9 & @1 sw - 2%3=6

() T owT W e

(i) <X ot =WREEAn
(iii) 'HFE BT T H HYFE
(v) ‘AR TR W (SHINE SRIERL

Frfafad sEaeet & @ @ w wygn e
i~ 2%6=12

(i) wmEg TEfve w9 feue ot e ofim © T e

. o feger ®@ ¥ SR 7 wan @ € fir 59 afe @

TR & 0% o1 9Tdl, §9 F1 L7 BH < I €€ T8

BT, B9 o1 h{? &H R == 1 <€ Wel ok, 9 =

T2 TR wH 7S 2 fr < el sar? <€ T B

W R W W TF TER W W ¥, vEREE T
faeredt wel, W aif @ 2

1675/K/20/7¢0 2

(i) R o/ @8 W Ted 3U "EE & R W e WH
H wefRe ¥ 8 foew § @ SU ae W et
# Tt fosr | G <faon foelt SWh, S 4@
favarg f, wg 59 <Rom & R gur d oW
TH UR STEM-TSM i WM UEI

(i) AR oo Ted @I Wie™ H e &I WIS
s ¥ f’ T it v g wiawmel w we syl
ol el g A Tl wnfdn = |ifFm w5, 35
LRy WE W SR R @ R ) ¥ oadt e
® B v fuw o gm w oo ol W $e
TeE € S 8w K deer Tt o 9 SeuE
¥ 323 ®L TR T

el WoHlEl U GERU B W9l W e
el

- SFeET
‘Heay @ el @ fagvad fafew 7
Frefafen ooed gof % § oF = W d- 2x3=6
() ‘HENE W s =]

(i) e & fa A ST W WY W R s s
(iii) =em t YA T =iE
(iv) ‘o = IoR feawm’ frera @ e

mRRE 9q W gl wiEg ateer i %1 S’
=g % emy W faeR wifeu 10
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.GSQ!M~24 1677
PUNJABI ELECTIVE

Tin » Allowed : 3 Hours] [Maximum Marks : 80
%zﬂ%waﬁm|§zﬁ€gﬁwﬁﬁgaﬁaﬁ: ’
1. J5 fed afe-2fens &9 faf & & yrar Afos
fonrfmr =3 5,5
® ‘w a8 yrem Afs 58 e dfe o 2 |
wg 98 TRHGT AR 2t 3| w1l
AF SH WA §8 Ag WHIGI
fafs »re € uggod w3 & 3T TG
(nf) ﬂmgfatrﬁﬁ@%,%?@@ﬂl
a7 &od He fAHg 3T yas J=fa aMi
#8 mu a8 9 Aer Aofe 9 & &9l
&7 56 HG J HET E9%8 WgH 9l

(®) ‘Ho wefenr SugeT &%

8r dis Tol € BY &%
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f&g ogg" © yy fomr, fHewr mos A5

36 fou st f89° fai g @ fivs 3 99" ¥4

s YAgs & 5.

® 7o gis

(on) gy dfde

yTT oox @ f<g Qui Ut mfos &5 we-use
FITE|

() ASAO'H!

(5) nE-Hedt _

(T—l‘). fast zamt

do fod maer @ 94 s 89 wigewe a5 10
@ feufsos (i) &

(i) ©IAZ (iv) o

(v) T3 (vi) o=

(viiy AL (viti) HfFH

(ix) F& (x) HaE

J5 f&d st 2 Tos TEs: | s

() &%t g g% gat T

(i) Brd Fg tur feam

ity =t Igrwr SR T

(iv) H 3 vewm a4 a9 Aeel

H{- n e 3 [x] s
(v, 9% & Has § 3¢ T oum fesn

At aig g wfog £ 990, Afosx feREs=t 8 AR o 0 B )

- RN 5 5 I35 T € ffar 9e8:
HIG3T Agdt »ug feog ydae a9l 15 - >
- . L . (i) HHSY, <& 3 Tdcy feoo-sciag’ &9 I9
Jo fab sofe-gut &5 fai @ <t ufesmr, g=-dez €H -
& mHE a9 e 10.10 ,
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) T A Gy us dt feor 9
(iiy fev Aow foumis g9 i
(iv) EFAH WUl Sight 3 A0S &% 7 o9t
Hi :
(v) =¥ HE &t rofesr s foids 3 adh
8. J& fed ymst € 99 feawy fe2 o5 Al waet
feamu gz o fad: 10

@M dJg i 2 ¢ far Haw s=me & Ade
agetenT A?

®) =g

()  =ES
() s
(A) widawmE!
(iiy Y 391 goed H & ooz s =fenr?
®) rifizre

(n) wEeus Aoy
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o) HEE
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(A H3SH
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GSQ/M-24 1678
SANSKRIT COMPULSORY

Time Allowed : 3 Hours] [Maximum Marks : 80
He: gl W et E

1. frefafed weil & IW e 8x2=16
() ‘R o' & WAGR WO SR
iy feee % wn ufEn wi?
(i) o fepaiie ¥ wa SR fhw W W R A9
Heft?
(iv) €W AReT & HErEve i sjee i {we A A
) S o ¥ P weRR o Bt §2 o T T
(vi) ‘= m@%ﬁmﬁﬁ?ﬁfwﬁawzﬁmm%‘?
(vii) §: W o afE-aEE WS F
(vii) ST Fa T B M fefe
2. (w) Tetafmm W @ B & W wwEg el
HIS: x5=10
) s P gRIST, WCTSRrRAE Ter,
quaE:  wREsiErted:, TR ST
- =ROT, eeds STEteiy EE ¥

ww e, EeEd FeaRd
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(i) @ AR TP AEdifed fFef S,

S FER, AT T T A ahe
) wa: FRfaf? sa sh s
HAMR TesTHER AR ST Sl
g vEmegART Sy

(i) 3@ 9= Fawn  sRee-amaes, we

RGHUSI, Ffhaeiche He weAfy IR
AW eI I AW wey
RIS RERINES |

(iv) ¥ = o foqeey Atk froe, shmifsfm
TRYEH, SAled S, wew o ewy
TR @Ry & ¥ aRaR: 9
T GRRERATT SRSl RS |

WETY THA RSeS|

Y IHR|

(@) t=fafen & @ fodl o gfm = ey ==

EAI T

() wEEREfREEE:]

() ¥ T <fEE " wrEaT)
3. (%) ‘Revs @' & wem fvaw w1 wx fofew

&

arere
‘s fosa @ smeR W R W uaRe-f
EIE g
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5. (&)

(=)

(m)

s oo @0 weane fummed &1 ISwE

T 8
A HUAT  HgeR K Wiefaw O™
Tafem) 8
frfefee & § gl & W feoml fafge: 2x4=8
() wEERd (i) iraierg

(iil) geda-l

e wer uel ffiw & R owEel oW
e fafe 6
frefefes & ¥ & o 9 W US
TS 5%1=5
G TR Tl

() =M &

(i) ¥ E9EE wg ]

(v) =H &=/ A IR

(v) T HE e el
(vi)y T IR e
(vii) §: TEE sl

(viil) Aq el
fefefen ¥ © sl o suxw faufemal =
g9 § WO SHiTed: 5x1=5

wie, Gy, fomr, s, @&, wf, we:, Fee
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| GSQ/M-24 1679
SANSKRIT (ELECTIVE)
Time Allowed : 3 Hours]. [Maximum Marks : 80
e Tl e eifEE R
|1 frefefen sl & e G- Bx2=16

(i) TR IR TN % W S SEWR o 9 A 907
(i) g5 B U TR Bl GRW G WA S 67
(iif) FIfee & T =S w1 AW ]

(iv) wifee fre sesr @ g o faem €2

(v) THEO @ wureng Ay wwel § favm €2 e
g & I fafen”

(vi) fawy v = w1 @ W S6enEy)
(vii) ‘TEFESTRRY B AR B €2

(vii) s =1 o evef €7

T W < el T

2. (%) Trafafes fo=f < vl &1 wwend sifec-
: 2%5=10

‘ (i) wafd TaTeE: waam-

! sormf sff faferr w0
- eTgEmn: wegen wyfef:

| wWE TN wgssIR

| 1679/K/22/1,800 mr



(i) STSFI: TMSEARIERl IEEEHD aE STl
wifaerurRetad ARl ° wy e
(iii) TheTa fran faw =R
qER O TeSiE qEE|

GICIT EREECED |
Fa wEE gHig ISl
(iv) ST & HEH @ B TR WERERR T4
FfrfafasdRd e TERe T §u:l|
(@) Frefafes & € W i w1 owwEy S
i 1%6=6
() €at f& et afmsn asiaeT:|
(i) SFeRIY 7= gaaewdld TefhE|

3. (=) SHrie=™ w7 TR - Te=o ai—g,q eIy
STEET

FHIIEE 1 Se9-9iEa § @l & il

S 1x10=10
(@) Frefofem & 4 el S &1 oiemo <ifee-
1x6=6

PR, fogues:, awEEEd, TR
4. () THET ST How ¥iaufcE Hifswl

1679/K/22/1,800 2

3TeEr

wauqfe o Aegwen & fawwaet wr faeEw

EAlS 1x10=10
(@) Frefafes & @ fosl & W feufml foafem—
2%3=6

HeIE, Tamfas, WgeR, Revsiasdl

5. (%) Trefafen fel ©F 0 w1 GEEW S -

whifore- 2x4=8
Ry, Saf wem, IO, sowisas
(@) frfefen & @ fodt ww fwa W wwpd §
frerer Tt 1x8=8
(i) weaTfa
(i) w7 o enfa:
(iif) SR,
" (iv) TRUTER:
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Qutline Map of Europe and World

20| [ (o Vi m————— Total Pages : 6
UNIT-IV (SHTE-1V) | GSQ/M-24 1680
8. Show Europe after Paris Peace settlement in the Europe MODERN WORLD
map and also write an explanatory note. 10,6 ’ Option—(i)
[ % A J ARE Wi S i A% R e ' Time Allowed : 3 Hours] [Maximum Marks : 80

U U qrsErs fewei o fafem)

Note : Attempt five questions in all, selecting one question
9. Show Europe on the eve of World War Second in the P t1 .- ) 2 9 :

. from each Unit. Question No. 1 is compulsory. All
World Map and also write an explanatory note. 10,6 ) i
questions carry equal marks. The part relating to

_ o & WAt W Tl fovd g8 % W [ A RO explanatory note on map will carry full marks for
WEY wo T e el o ik l i visually handicapped candidates only.

o YEE THE B G Ueh WY B W W gy, HA

ater T & SR dfew T wWew 1 afted |

. g gyl & oFF WHM ) Sew e ettt :
i_ % forg wAfes gl ferolt ot W % QL ol A
: Bl

! Compulsory Question ( 3@ wed)

l 1. Altempt the following Multiple Choice questions : §x2=16
i Sgfamed™ Tl Sl W WIS

(i) Who said [ am the State?

() Louis XVI (b) Louis XII
| (¢) Louis XI1I (d) Louis XIV.
1680/K/23/2,300 ' P.T. O.
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¥ & wa € fewd e o

(a) TE wieredl (b)y T REal
(c) ¥ awgat (d) wg =<l

(ii) Who was the author of the book ‘The Institute of
Christian Religion® ?

(a) John Huss (b) John Calvin

(¢) Dante (d) John Wycliffe.

‘T e offm fewem fEier’ R g
oEH B A2

(a) W &9 (b) W= <hived

(c) wid (d) ST e

(iii) Who invented the Rail Engine?
(a) Newcomen (b) James Watt
(¢) Henry Ford

@ SO I @ RREd wi?

(d) George Stephenson.

(a) “geRTHA (b) = 9
() T/ e (d) i e
({v) When did Turkish capture the Constantinople 7.
() 1498 A.D. (b) 1453 A.D.
(c) 1492 A.D. (d) 1600 A.D.

1680/1</23/2,300 2

Tl 4 FAGHN | HI pean fwmar?
(a) 1498 % | (b) 1453 %
) 1492 % (@) 1600 %1
(v) When was the ‘Treaty of Versailles® signed?.
(a) 1918 A.D. (b) 1919 A.D.
(c) 1920 A.D. (d) 1921 AD.
‘el & W W WA s gw
(@ 1918 %. by 1919 %
(c) 1920 %. (@ 1921 %1
(vi) What was the Symbol of the Nazi‘s?
(a) Swastik (b) Om
(c) Ganesh (d) Laxmi.

1 T B === 1 1

(a) TS (by s\
(c) Trorel (d) <l
(vii) When Lenin died?
(a) 1918 A.D. (b) 1920 AD.
(c) 1924 A.D. (d) 1925 AD.
1680/K/23/2,300 3 P.T. O.



A W g we g

(@) 1918 % () 1920 €

(c) 1924 % (d) 1925 .

(viii) When First World War started?
(a) 28 July 1914 A.D.
(b) 26 March 1914 A.D.
(c) 28 June 1914 A.D.
(d) 14 June 1914 A.D.
W fovg I8 w9 g e
(@) 28 Yamw, 1914 %

r

(b) 26 ==, 1914 €

(¢) 28 <[, 1914 %,

(d) 14 0, 1914 €4
UNIT-I (S&1E-I)

2. What do you mean by Reformation? Discuss its causes

and impact.

gw@mwn@%wﬁ_wﬁqﬁwmm?ﬁf

EiE

1680/K/23/2,300 4

1680/K/23/2,300

Describe the main features and effects of Industrial
Revolution. 16

Arifer Ff W ugw fovmed ot Tl 1 seog
Hifera)
UNIT-I1 (gehtd—11)

Discuss the main causes of French Revolution. 16
W Wit & T snel #® e sifw

What do you mean by Imperialism? Explain the
causes responsible for ihe rise of imperialism in 19th
century. 16

AHRIER G S R TR €7 19 W W s wea
® WA B SRS i

UNIT-UI (ghE-11)

Describe the causes and circumstances responsible for
the Russian revolution of 1917 A.D. 16
19|7§.ﬁmm%m.mﬁwuﬁqé
IRl @ 9o =i

Explain the establishment and rise of Nazism in Germany
under Hitler, 16
feeeR & ol sofft & Tflae & weam 3 T =
SHTEAT i)

L0,

wn



On the Outline Map of Europe show. Europe on the Qutline Map of Europe
eve of First World War. Also write an explanatory - | Roll No. ... Total Pages : 6
note. 16
Y % T AMtEd § ged e g & W O R
T9lisy! UH oAEArdd feweft | faraw

GSQ/M-24 1681
MODERN EUROCPE (1789-1945 A.D.)
Option—(ii)

1 Time Allowed : 3 Ilours] : [Maximum Marks : 80

Note : Attempt five questions in all. selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks. The part relating to

explanatory note on map will carry full marks for

visually handicapped candidates only.

l m‘ﬂﬂéffﬁgquﬂmqwch{&@mﬁ
| ure ge @ Iw e wee wem 1 afen §)

: il 9 F oHw A §) sew Aaen i
{ ‘ aw%qnﬁcaqw-tﬁﬁmnméwra?@m
T

Compulsory Question ( 2THarEd Wy )

1. Attempt the lollowing Multiple Choice questions : 8x2=16
frfefen wgfowmeda wval &0 s @R

| (1) Who was the successor of Louis XV ?

(a) Louis XVI (b) Louis XI1

1681/K/751/8,200 6 | (c) Louis XIII (d) Louis XIV.

168 /KT H8.248 PT 0.




. Uged Wl SOOI i o? | , i
Lk ; foea 9 14 A wEwE e R

{ r B = [ b b

a) Tz WIasal (b) <z ETEdl (@) 1918 % (h) 1919 %
c A2 d c & -;-l .
(¢) T e (d] Tz =it (©) 1920 % (d) 1917 %1

(ii) Agadir Crisis happened in which year ? )
(v) In 1917 the Czar of Russia was ?

(a) 1911 A.D. (b) 1912 A.D.
(a) Alexander Il (b) Alexander Il

¢) 1913 A.D. d) 1914 A.D.
(c) 3 (d) (c) Nicholas I (d) Nicholas IL.

IR Hoe fow o9 gan? e 4 & g -

1911 % by 1912 % 8 o 5,
- () a ) : (a) 3eTHsisT 1l (b) ereresiel 1l
S (c) 1913 % (d) 1914 %1 et i ; ) ey O

(iii) ‘Blood and Iron’ theory was adopted by ? .
(vi) When First World War started ?

(a) Hitler {b) Ml‘ISSOIil‘li

i _ (a) 28 July. 1914 (b) 26 March, 1914
2 ® (¢) Bismark (d) Lenin, _
g (c) 28 lune. 1914 (d) 14 June. 1914.
' wd die’ & e e el
» W wem fve gs %e YE W
Taeeit Eiert g
= &) (a) 28 &R, 1914 (b) 26 TE, 1914
(c) faemmen (d) wfHI

(c) 28 NI, 1914 (dy 14 S, 19i4.

(iv) When Wilson gave 14 points Programme ? . o g
(vii) Who Chaired the Vienna Congress ?

o1

(2) 1918 A.D. (b) 1919 A.D.
. (a) Talleyrand (b) Castlereagh
©) 1920 A.D. ) 1917 A.D. e -
(¢) Metternich (d) Tsar Nicholas—II.
1681/K/751/8,200 2
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ferry w0 1 asaaa fems F17

(1) IellE (b) SHTHEL
(¢) TefTE (d) w1 FeRem T

(viii) When Japan attacked Pearl Harbor ?

(a) 23 August. 1939

(b) 1 September. 1939

‘(c) 7 December, 1914

tdy 4 February. 1945,

WOE T T EER W HA eehAw fer?
(a) 23 =T, 1939

(b) 1 Tader, 1939

(¢} 7 TeE¥, 1941

(d) 4 TRl 1945,
UNIT-1 (3%1E-1)
Explain the main causes ol France Revolution. 16
FEE Wifd ® e HRU S eIl i
Explain the Internal reforms of Napoleon Bonaparte. 16
Yo dFTwe ® iafeh YW I Saredl Shiteiw

PR U/K/TST/R0 4

8|

UNIT-II (SRmd-11)

Explain the different stages of the Unification of
Italy.- ; . 16
e & THE e faf =Rl @ sren wife)

Explain the causes and impact of the Bolshevik

Revoelution. _ 16
Aesifar Wi ® HROT SR WWel @y sared e
UNIT-IIT (geRTe-111 )

Discuss the Home and Foreign Policy of Hiflex‘. 16

freor =1 TR don fadw AR W o=l S

Throw light on the causes and effects of the Second
World War, 16

fdfm fawe gm @ el SN wwel W oyEw et

UNIT-1V (S®E-1V)

On the Qutline Map of Europe show, Europe on the
eve of French Revolution. Also write an explanatory
note. : 16
gy & Yer waben § widheht st @ w me W g
SiEY| U SNERTE fropefy o ey

1681/K/751/8,200 5 RT.O.

4"



) L Total Pages : §
UNIT-IV (S&E-IV) - - ' LR

Explain the main features of the Present Import Export GSQ/M-24 1683
Policy of India and what are the main objectives of this INDIAN ECONOMY-II

policy ? 16 - Option—(i)

0 el i | Time Allowed : 3 Hours] [Maximum Marks : 80

Fify @t W W D g e @-E 22 o _
Note : Attempt five questions in all. Question No. 1 and 2

10. What is meant by the World Bank ? What is the work of ’ is compulsory. Aftempt three other questions
the World Bank and what is its contribution in the selecting onme question from each- unit carrying
Development of India 7 16 , 16 marks.

g 9% @ T shwm 37 fRg 9% ® w9 IR, 9 F@ U v @ T g W dem 1. ek 2t
% foe § TEE W@ ARA R s 31w TEE ¥ TH WA B W W g
“ A o W WA RN TR T D 16 3

A

Compulsory Question ( 3tF=m wyT)

L. Ever since India adopted the policy of globalization,

multinational companies have played an important role
. in the development of India’s economy. Due to these
companies having huge financial resources, modern
technology and marketing skills, they are able to market
their products in a good market. India’s domestic companies
have to compete with these multinational companies as
brands are selling more widely and on a larger scale. The
companies that are unable to compete with them get shut
down or at times lose their quality. Many times

1683/K/752/2,850 | 8 1683/K/752/2,850 - P.T.O.




L

compromises have to be made. Multinational companies |

arc also conscious about the quality of their products
like Nestle’s Maggi product and they take strict steps for
the safety of consumers.

Based on the above situation study, answer the following

questions: 4x4=16

(a) What is meant by multinational companies?

(b) Explain the advantages and disadvantages of
multinational ‘companies

(c  What is meant by cénsumer protection?

(d) How can the government control multinational
companies?

T ¥ URG Y S W A s SR € SuR R
¢ wgUEld $UE B qRa & sefereen & R T
T ATRE W2 T R B e foeme e R
e, Mg dee olN faum W quweae w9
F FRU T5 T IAR Sl T =Sl Al @ &4 F R
forwr ¥ o 92 WX W Sl T IRG & e FEl
H T qETLT GabE e g eyl s ued € W
wufrl = WY gReerd e S U € % w5 8 OS

T g ¢ 9R =% o FEIfed & Wy gHEa S agd

& 7 SR wgua sl R e SR @ sl &
oy ¥ owEw WA v W @ Wi s susiemed
# g # o o w2 %A SNl @

1683/1K/752/2,850 2

lf?

T Feofd s & oTAR R P T @ W dfera:
() TEU FAtE ¥ W s 82

(b) wRUa wufEl & wid R e sy

(c) Susiomn TEm | w0 HyE &2

(d) TR Tg UL HOGE W EW FEM @ wehd

%7
2. (a) Match the following : ‘ Sx1=5
(i) Mahalanobis model ~ a. Banking Facility
(ii) Mudra Bank ~b. Bank for Small and
medium Enterprises
(iii) NITI aayog c. Subsidized export
promotim;
(iv) PM Jan Dhan Yojana d. Second Five Yeai Plan
(v) Interest subsidy e. 2015
i freafafem w1 faad  SIfag:
(i) Mahalanobis model  a. Gfem giaw
(i) 91 % _ b, B i meww veml
% faug &%
(iii) NITI aayog c. Wendigw Tk geRT
(iv) PM Jan Dhan Yojana d. S®O w=endia 3o
(v) s wisae b. 2015
1683/K/752/2,850 3 P.T.O.



(b) A'tlempt the following Multiple Choice questions : (iii) Workers who are employed in such Industrial

5x1=5 - enterprises in which the total number of workers
frafafen wgfamedm vl &1 & HiWT is less than 10 are called .o
(i) Heavy and basic Industries are mainly kept in _ (a) Organized (b) Unorganized
the category of ...ccoeverncs Industries. . (¢) TFormal (dy Minimum.
(a) Large scale ; ‘ s < O Siife YRR A wEw € o
i Datrge et s = e 10 A FE, T
(c) Agricultm_'al oriented wE S Gl
(d) Consumer Product. (a) ®fsd (b) ST
W 2R SIERYE $EMi w1 geAd: T (c) Siroartin (d) =enl
et w goh @ S @ ‘. (iv) What was the period of the 12th Five Year
(@) 98 WX & (b) 2R Plan ?
() 3fF wuH (d) SUMiET TG (a) 2005-2010 (b) 2010-2015
(ii) For how many Industries in India is it mandatory (¢) 2012-2017 (d) 2017-2022.
to obtain a license ? _ 123”{ weadty A W wE A odi?
@7 LR | (a) 2005-2010 (b) 2010-2015
(C)‘ - e & (¢) 2012-2017 (dy 2017-2022.
yRa ¥ forae Sam & e aRes o st

(v) In which year was the First Foreign Capital

?
Ll Policy announced in India ?
(@ 7 () s _
(a) ‘1947 A.D. (b) 1949 AD.
(c) 18 (d 2.
(c) 1950 A.D. . (dy 1991 A.D.

1683/K/752/2,850 4 1683/K/752/2,850 5 LT.O.




apd § frg a9 o wrer fadel oS AR A

s 2 |

(a) 1947 % (b) 1949 %.

(c) 1950 % (d) 1991 %I
(c) Attempt the following Short Answer questions :

3%2=6

(i) ‘3.;hal is meant by Special Drawing Rights ?
(ii) What is meant by Democratic Planning ?
(iii) Explain the problems of Cottage Industries.
frerfeifar @y S T & R QR

() favre emewy ifwER @ M AHE B2
(it) FeTeTeRs frEem @ e st 27

(iif) FER sA H FHE =l

UNIT-I (g&i-1)

Explain the Industrial Policy of 1991 A.D. and critically
16

evaluate it.
1991 % ﬁmﬁm@amwﬁﬁqawm
ST e il

Explain the need for what the New Economic Pelicy

means? 16

ﬂéaﬁm%wwaﬁ%a@wﬁawﬁ
Al EIfee? :
1683/K/752/2,850 6 .

UNIT-IL (oh-11)

What is meant by Social Security ? What sieps has the
government taken under Social Security for the welfare of
employees ? 16

TS G W e st ¥ weenfe & wea @
T TR A WIS YR % SRR ¥ e
39 €7

Describe what are the causes of Industrial disputes and
what are their side effects on different sections of the
Society ? 16

e fe & = RO 3 & SR S uEe @
fafe o W N SHEE USd € UM hiferg?

UNIT-I1I ( Sohl$-1H1 )

Explain the objectives and strategy of Economic Planning
in India and describe the achievements of Economic
Planning. 16
qRd H oM demish & 3Ryd 9 RN @l A
Fifom o anfier FrlisAl & Suafsl w1 9vR wife)

Describe the objectives of the 12th: Five Year Plan. Also
explain the main areas of this Plan. 16
(2o Tty Aienet % SEXE W AU IS T A
% g 83 @ o smen il

1683/K/752/2,850 7 P.T. 0.



(ix) What do you understand by Pancreas? B Total Pages : 4

G G S 0 TR A | : GSQ/M-24 1693
(x) Define large intestine. | HEALTH & PHYSICAL EDUCATION
T s B R SR (THEORY)

Note : Attempt five questions in all, selecting ene question

( Time allowed : 3 Hours] [Maximum Marks : 60
: from each unit. Question No. 9 is compulsory.

ToE TR Y TH W W W T U, [ b v
& W G 7 e 9 e #

UNIT-I (551 )

1. Define motivation, explain in detail the role of
motivation in physical education and sports. 10
sifson w1 uitfig = g, vitE foam 9 B o
srfarson =t gfirnr w1 =ETEn S

i 2. Explain in detail the effects of social behaviour on the
il performance of sportsmen. 10
fernfedl & weelt = s =R & vam @) fa
SR SHifsTl -
UNIT-II (3%E-10)

3. Define sports training and discuss the factors which

affects sports training, 10

e gt @ aRefya s G g winser &t
R T AT HRe! Bl 9ol it

1693/K/178/3300 4 1693/K/178/3300 ? P.TO.




What do you mean by Doping? Discuss the various types
of doping. 10

S § oY = wwen w7 SR 8 iy TR @
T i

UNIT-II ( Serré-TI1 )

Explain in detail the Newton's laws of motion and their
Application in sports. 10

%%ﬂﬁr%ﬁaﬁjw@a’fﬁmmﬂm
TogEs auiq mifen)

. What do you mean by Lever? Discuss in detail the types

of Leaver and their application in sports. 10
Sl ¥ Y T TR € SeE $ yeR 9 gl o
SileR ® AT 1 fasargl vl s

UNIT-1V (ShE-1V )

Define digestion, explain in detail the organs of Digestive
system in detail. 10

e foren =t 9 o g8 uee few oeum @ i)
=1 forega gui7 wifsg

Explain in detail the mechanism of Digestive system. 10

Compulsory Question ( 3Fem wyT)
Attempt all questions:
et TEEl % ST ﬂﬁr@:
(i) Define internal motivation.
e sifinion =1 aftwfig =i
(i1} Define socialization.
FH 0T I R i)
(iii) What is sports fraining?
g i R W €2
(iv) What is circuit training?
aftag wikgor fee ed 22
(v) Clarify the meaning of Doping,
Tifa o $1ef T e
(vi) What is gene doping?
S SiftT @ €2
(vii} Déﬁne sports Bio-rﬁechanics.
T - B uiefi wif

(viii) What do you mean by Class III Lever?

10%2=20

qrT TBR T STieh o TR & Aead 32

U G i iSHAT 1 foRdRyEed vl sify

1693/K/178/3300 2 1693/K/178/3300 3 P.T.O.
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GSQ/M-24 1694
MUSIC (VOCAL)
Time Allowed : 3 Hours] [Maximum Marks : 40

Note : Attempt five questicns in all, selecting one question
from each Unit, All questions carry equal marks.

mmﬁﬁwmmwmﬁ@,@
v‘hgﬁémﬁﬁmmﬂuﬁmwm%
UNIT-L (3oE-1)

1. Give detailed descriﬁiion of Raag Bihag along with Aaroh,
Avroh and pakad.

T form T Frqd foatTr aE STEUE ad THY Wied
fateml

9. Write down the notation of slow khayal in any raag
prescribed in your syllabus with two alap and one laan.

mmﬂ'ﬁwﬁﬁwﬁﬁaﬁﬂw-ﬁ
wifefy & one Gl T am ufed fafem

3. Write down the notation of Drut khayal of Raag Deshkar
with two alap and two taan.

o7 2uPR B IE S F e ¥ eem AR D
o wfea fafel '

1694/K /27/950 T O.



Write down the full description of Jhaptaal with
Thah(ekgun), dugun, tigun and chaugun layakaries.

mmmiﬂfwﬁmaﬁgﬂﬁﬁmmwmmﬁm
Hfeq sl

UNIT-II ( SehTe-I1)

Describe the situation of Indian Music during 17th to
19th century.

17 & 1odff v & IRE URAE w9 @ el
& 9 @i
Write the contribution of Gangubai Hangal in Indian
classical Music.

meﬁmmﬁwﬁaﬁ
¥ fafem

Write a detail note on Voice culture in Indian Music.

mﬁamnmm&mﬁwwﬁﬁﬁﬁmﬁ
SifeT

Write the coniribution of Ustad Amir Khan in Indian
.classical music.

TG I €d H SWIE R © % d9NEH @
ar # Tefem

UNIT-III ( gohe-1I1 )

What do you know about the folk Music of Punjab with
special reference to the folk songs of Punjab? Write in
detail.

1694/K /27/950 2

10.

tom @ e i % e wed § d9m w e
i & I A oy w@ W 32 fawr @ fafew

Describe the classification of Indian musical instruments.
Write in detail about Sushir (Wind instruments) and Ghan

Vadya (percussion instruments).
g S A oreEE & A = ELEEENIELY
gt ©d@ w9 9 % M A fwR ¥ fatew

1694/K /27/950 3



Roll No. triveivveiiiinereeeeees Total Pages : 3
GSQ/M-24 1695
MUSIC (INSTRUMENTATION)

Time Allowed : 3 Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one
question from each Unit. All questions carry equal
marks. '

mﬁéﬁﬁwwﬁ-mﬁwmwm
T, A Ui WA & SWOART ad W W e
A%k T

UNIT-1 (E&E-1)

1. Write the Notation of Maseetkhani Gat of any Raag
of your Syllabus with Aaroh, Avroh, Pakar and Four
Toras. ' _ 8
st wEsmd A ¥ Tuffg A 9 et off oW
T T aE, ST, T O WX AW ® g™
fafem)

" 2. Write the Notation of Razakhani Gat of ‘Raag Bihag’

and ‘Kamod’ of your syllabus with their full description.
8

T YeEHT & W faem’ qun I v & uiEE
7% goeas faemr ® wiy sl

3. Write the Comparative and Historical study .of Raag
. “Deshkar” and Raag “Bahar”. ' 4.4

1695/K /588/750/T o P.T. O.

i



yre s -

BT SR ey

4 Ry, - e

-

= S o 2 “q"-_.r-'?"? anrp = ay -

- Demerits,

T “Faen”  wen T e o Ui IR e
faamm & w9 =ifEul

Write the comparative study of Raag “Bhimpalasi” with
Alap, Jor Alap and Toras. 8
o “ el @ efeTd, SR ST W dikd W
goarasE  arere fafau

UNIT-II (3&TE-11)

Write Igun, Dugun, Tigun and Chaugun Layakaries of
So0l Taal and Dadra Taal with their detailed description.

44",

@ W@ ¥R TR A § T, §F, R R
JEEd T s foww faae wika fafe

Define the Notation Syéteni along with its- Merits and
8

Wwﬁsﬂ%mmwﬂﬁﬁqﬁﬁﬁa
Equy

Write in detail the Development of Indian Classical Music
from 17th Century to 19th Century. 8

Naﬁm@ﬁl%ﬁmﬁwmﬁﬂwm
%m,ﬁﬁmﬁﬁrﬁml

UNIT-IIL (5eme-T00 )
Write the detail description of Raag Pahari or Maand.
#

T g} stPEn Wis w1 fowq@ woln farem)

1695/K /588/750/T 2

& .

9.  Write the role of Electronic Media in Popularising Indian
Classical Music. 8
Y e Gl @ eieiig TR § saeit
wfem = e fafew

10. Write the contribution of Ustad Ali Akbar khan and Ustad
Vilayat Khan in promoting Sitar. 8
foar &) T X W IWIR Il THE WM SR SWiN
faegg @@ =1 arRE fafe

1695/KK /588/756/T 3
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GSQ/M-24 1709

COMPARATIVE CONSTITUTIONS OF

UK & USA
Option—(i)

Time Allowed : 3 Hours] [Maxinmum Marks : 80

Note : Attempt any five questions. All questions carry equal

L2

marks. :
fodl orer W % Sw Siwu Bl e S ofw
A B

Describe the Salient features of' the American constitution.
16

i wiaym @ HE fanmmedl w1 gvi @it
Evaluate the Socio economic System of England. i6
IS H wHIRes SNt SRR W i @i

Examine the functions and position of the British Prime
Minister. 16

fofewr wum ot & s@l ok Rl & Wy o
Discuss the composition, powers and functions of the .-
American Senate. 16

ST Gz 37 W, R ot Bl W w

1709/K/284/6,550 P.T. 0.



Discuss the Main features of the American Party System. -

_ 16
aﬁﬁﬁaﬁamaﬁg@ﬁﬂwﬁmﬁﬁml

Describe the Features and funetions of Pressure Groups. '

16
Wmﬁfﬁﬁﬁwaﬁuﬁmmmhﬁml

What is voting Behaviour ? Discuss the factors influencing
the voting Behaviour in England. 16

WW'W%??%ﬁWWHﬁWH
Waﬁrmmwaﬁmz

(i) The American Constitution was implemented in which

year?
(a) 1776 AD. (b) 1789 A.D.
(c) 1885 AD. (d) 1889 AD.
R SRam few o o R mr em
(&) 1776 % (b) 1789 %
(c) 1885 = (d) 1889 <.

(iii) “Conventions clothe the dry bones of law with Elesh”.

Who said it ?

(a) Finer (b) Russell

TN o oy e

Describe the functions and features of American
Bureaucracy. 16 :

" | - (©) Ogg and Zink (d) Laski,
Wﬁm@#wwmﬂmﬁmmﬁml . . aﬁ'
Objective type questions : 8x2=16 FALT Wl

' 2" fee @ :
IS T ;
v THIET W
(i) When was the Magna Carta Act passed in Britain? @ ®)
@ 1215 AD. (b) 1688 AD. (¢) ST iR foe (d) el
(c) 1857 AD. (d) 1905 A.D. (iv) How many Members are in the American President’s
3 3 Electoral College?
T § T wel afufem we wie B2
‘ . (a) 100 (b) 435
a) 1215 % (b) 1688 %
() | ‘ (©) 535 @ 538.
(c) 1857 ¥ (d) 1905 ¢
1709/K/284/6,550 2 1709/K/284/6,550 3 P. T. O.



e

éﬂﬁaﬁu@qﬁﬁwﬁamﬁwﬁﬁw'ﬁ

e fEan 82 (vii) How many Judges are in the American Supreme
Court?
(@) 100 (b) 435
(@ 12 by 15
(c) 535 (d) 538.
. : © 9 (d) 10
(v) Residence of the British Prime Minister ? "
) ' ST gim w1 § e =i €2
(a) 10 Downing Street
b) 15
(b) Buckingham Palace 4 B k)
c 9 @ 10

(¢) White house

(d) None of the above (viii) When were Women given equal voting rights as men

in America?
fafewr wom w5 =1 e
(2) 1928 AD. (b) 1925 A.D.
(a) 10 =R wE
(c) 1930 A.D. (d) 1920 A.D.
(b) i%EH Hed ¢ .
‘ Wi § wfgasll ! TEEl & AN TAONEGR &
(c) =B TRH ; e m=?
@ 3T ¥ ¥ WK | (2) 1928 % (b) 1925 %
(vi) What is tkEe Tenure of the American House of (@) 1930 % @ 1920 %
Representative?
(@) 5 Years (b) 2 Years
(c) 4 Years (d) 6 Years.
s/fent wfafify w1 1 wrfew fean @@ 22
(@) 5 Wi () 2 uw
(c) "4 G (d) 6 gl
1709/K/284/6,550 4
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L-15049

(vii) Although he is strict, he.is good at heart

(Convert it into 2 compound sentence)

(viii) As he was sick he could not eat.

(Convert it into a compound sentence)

(ix) The fog disappeared when the sun rose

(Convert it into 2 compound sentence)

(%) I bid them that they should drink the poison.

(Convert it into a simple sentence)

6,500

(®)

:_ll No. .

ime : Three Hours]

. Total Pages : 08
BAQ/M-24 15049
ENGLISH

(Compulsory)

[Maximum Marks : 80

lote : All questionsiare compulsory.

Explain with reference to the context ome of the
following extracts : ' -
In the great heavens, Brahma, the self-created one,

was lying on his serpent, when the sage Valmiki

" entered, armounced by the two doorkeep-ers. ‘Oh,

learned sire, what brings you into this distant world
2 asked Brashma, and, offering the sage a seat
beside him, fell at his feet. ‘Rise up, O God of
Gods ! I have come to bring you sﬁistar news. Far .
down on the earth yéu. chese as your chief daughter
Bharatha, the goddess of wisdom and vell-being.

You gave her the sage-loved Himalayas on the north

(5-28/9) 115049 : P.T.0.
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L-15049

and the seven surging seas to the south, and you -

gave her the Ganges to meditate on, the Godavery

to live by, and the pure Cauvery to drink in.

Or

By the evening, the critical period being over,
Moorthy ft;.lt stronger and _;aid to Rangamma,
‘Ranga_zmma if we had a bhajan this evening ?° and
Rangamma said, ‘But Moorthy, you are weak’—to
which Moorthy replied, ‘No, I am weak no more.
And if T am weak, Seenu ‘will lead the bhajan !
And as dusk fell, Seenu lighted the oil lamps of the
sanctum, and going up the promontory he rang the
bell and blew the conch, and men came from the
Potters’ street and the Brahmin’s street and the

weavers’ street and the Pariah étreet; but Vasudey

and Gangadhar were the only ones to come from
the Skeffington Coffee Estate, -

Ex_plain with reference to the context ome of the

following extracts - ‘ 5

The old proverb is very well parted between my

master Shylock

and “you, Sir : you h:ave the grace of God, sir, and '
he hath enough.

Or
There is more difference between ﬂze ﬂesh and hers
than Eeﬁweeh |
jet and ivory, more between you bloods, than there

is between red wine and rhenish.

9. Answer any five questions in about 30 words each : 10

@
(b)
(©)
(d)
)
)
@
(h)

(5-28/1M-15049 3

Why is- Range Gowda & must for villgge congress ?
Who is Bade Khan ? _
What economics does Moorthy tf;ll_ Nanjamma ?
How is t.he Sevika Sangh formed in the village ?
"How does Antonio ill-treat Shylock ?
What wealth does Jessica take along while eloping ?
What are the sins of Shylock ? '
How is Shyloek’s trial unfair ?

PT.0.




3. Answer the following questions in about 250 words each : | you think of an important jdea or a beautiful poem.

(@) Discuss the character of Moorthy in the novel . Unless you can write it down, your idea, or poem will
‘Kanthapura’. - = probably die. Even if you do write it down, your idea or

& poem will probably die. Even if you do write it down, it

Describe, how Kanthapura is a representative Indian perishes as soon as the mice eat: the paper. But once

i ‘ - : printing had been discovered the idea or the poem could

(b) Discus§ LESERE RS B % be made to last as long as one liked. And so it could live

Or 1 long after you had died. Not only could it live in time but
Comment on the father-daughter relationship | also in space. By making enough copies of it you could
between Shylock and Jess;ic?‘ bring it to the notice of hundreds and thousands of people.
4, Write a letter to the editor of a newspaper complaining of S T s
g : SpapeT comp - 6. (a) Write one word substitution of any ﬁve.
the unsatisfactory street lighting in your colony. 10
expressions 5x2=10
O . ;
' r ' () One who loves talking about oneself.
Write a letter to the G Man f the Stat
rite a letter to the General ager of the State (i) One who reads book eagerly.
Transport requesting introduction of additional bus service. . )
| (i) The practice of marrying two wives.
5. Write a precis of the following passage and assign a

"t (iv) That which cannot be eaten.
suitable title : ' 8

(v) That which cannot be heard.
The effect of books is two-fold : to preserve knowledge

i - by i ' (vi) Lasting a short time.
in time and spread it in space. Suppose, for example, that ] :

1-15049 4 (3-28/11L-15049 * - 5 " PT.0.




(b) .

L-15049

(vii)) The science of gardening,

. (viii) One who is present everywhere.

Write short notes on any fwo terms : 2%x5=10
i) Memo
(i) e-Mail

(iif) Circular.

Transcribe the following words and also mark the

primary $tress (any five) : ' 5
@) Thick
(ii) Blast

(iii) Adjust
(iv) Army
(v) Fox

(vi) Tour

. (vil) Wood

(viii) Nation
(ix) View

(x) Skirt.

Or
(For Blind Candidate Only)
Attempt any five idioms in your own sentences : 5
To beat about the Bush; the apple of discord; Pull
down; to air one’s opinions; to cast anchor; to get
one’s backup; in cold blood; to blow hot and cold.
. (d) Transform any seven sentences as directed : 7
(i) 1 want to talk to this man.
(Convert it into a complex sentence)
(ii) He got my letter.
(Convert it into a complex sentence)
(iii) She is a stupid girl.
(Convert it into a complex sentence)
(iv) 1 know that you are the nobiestl of men.
(Convert it into a simple sentence)
(v) He admitted that he had been defeated.
(Convert it into a simple sentence)
(vi) The boy who was carrying' a letter, entered.

(Convert it into a simple sentence)

(5-28/12]L.-15049 7 B0,




Roll No. Total Pages : 03

BAQ/M-24 15052
, HINDI
. (Compulsory)

Time : Three Hours} [Maximum Marks : 80
qe ;W WA ® SW e |
1. fPrafefeg wwiel 4 @ fFl & st W orem
HIST = . ‘ 6+6=12
(%) e, SIS 8 W@ T g% WO T B9 |
o=l St SY wWn 9T 91 s fEEd U
e, qrE Ty g, g W ' e
waE § den W, A 9t s=ou
(@)Wﬁﬁ%ﬂ,ﬁmﬂtﬁaml
R4S HET A, wE W fwEw o
st W 4 FRE, v T W W L

Wﬁmﬂ?'ﬁﬁ-ﬁ?,wwwn

(7-04220)1 15052 : P.T.O.



(M) TR W W W RS, T @ % W g
ol Hedr el e, frr SRo@ W H O
el ok WY R U, o8 9% weiY RO |
@t T oH YO W R, YA wE W T g
FER SER © % ufi, € To-gN w 9@ BN

(W) W-W IR TSR w HE Ak gt

I aw a faer @@ F o g @hh

R w W w0 Awd I5 A gHEE @

o o diw W W W T SA WER I

. aEER g Svek | ¥ e e o i uRew

fafEy | 7

] nﬁmﬁ%qﬁﬁﬂﬁaﬂmww%lﬁ@

qUIT DS |

ST
T T St AL qfedE W IR fER o w7

. Trefafen ool F @ 6=l o & S| 4« 8+8=16
(m)g‘qgt#.‘ﬁmwﬁw‘ﬂﬂﬁq-i
(W) YewEd W1 YR QR WREE W TR S |
(1) R ® TEE WEd H g0 Hig |

(=) foomht e @ YoifE SR R fER S 1

L-15052 2

.ﬁﬁﬁf@aﬁsﬁlﬂﬂwﬁﬁ'ﬁw?ﬂ?%w

EUE 5+5+5=15
(F) THHIRG HT UEE TR HI |

(=) aﬁ'@-%ﬁﬂ%%@'ﬂmmm%aﬂﬁm
() werEs B W wEeeEa W st |
(w) G W ww w2

(&) Wmmaﬁuqﬁia‘i’fﬁﬁaql

(= afs Fre W TR T aaEy |

. Frafafer w # ¥ B @ @ s AR : 747-14

(F) TH ST 90 F vqE fagivmet &1 v sifeg |
(@) 9ie He Hi TG B WO g wE S oS € 2
(1) dfifes TR @ vEE VR W A SR |
() ok W uRfeREl @ oavH s |

. Prfafe T B TR AR ¢ 4y, +4Y,=9

(%) g9 WWW STcieRTL o W& T T
HIREW TR Hitag | '

(@) ﬂawmwmmﬁﬁm@m
e & | | '

(-04121) L-15052 o3 . 5,350
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- BAQ/MI-24 . 15053
HINDI (Elective)

Time : Three Hours] [Maximum Marks : 80
Az ;. Wi ww ated § o

1. Befefes sl § @ fesdl € Y 9uEw oSmem
HINT : . 8+8=16
(%) TU FE Hiew &I Ao

o fore TfET S
7 TEWHRK WA A
g oRd TS |
(@) M@ W PR e
daw § 9u oUR
S Wi YRl B
Ped 9 T I |
() g ot @ &= &
I M s
I IRE-TES T H
Sed-gd oWA WU ® |
(%) ARFAM A e g
- S
o wgd 18 fEemed
g Sat BT W W |

(2-01/4) 1-~15053 . PT.0.




. i W g § s @ wea-did W i R
g

arerar

“ofg' wEY ¥ HRER SETER TR @ fRe-de @t
e we g R 1" % owee 9wl ¥ WEE
oo sifeg |

. Trafcifes weier = syen s | . 8

uw gH e, N = 9w w2 10 o= s g
G2 I IiF T T o oo A @ W WY | STEER
H oW R W o AT | d @ @ R oEE &,
i 112 e 1 S A T - B =
qdor @ duenr wE s O | '

areraT |
wiges ¥ free R fodt B om0 e
TET W W T | EE TF SR W | R TR
oW e B Y et ¥ e W | R WYE ©
Sl w-wRra € oS et ¥ WO

. S ST ® TR W wdem ® aRe-gE

foor wwe wifag 1 ' 3
g '

‘TETHls’ IR % STYR R gE@ 919, 1 =RE-Tee
ST |

1-15653 i

5. frfafes ool § @ = @ % S R @ 15+15=30

(%) B8 gt o3 @ wgE el W ol
Hitea |

(@) 99 Hiom S WHE 99 1 GO RIS |

(M e} Tert & Ssve @ Taom W oo Wiy

() =) wwiiE & e @ 9ol S |

LUl oS TRl B SW N . : 10

(F) ‘w oz’ & R =N w1 AW fafe |
(@) O W@l @ gew feed €, fafew
(m) St vEw @ Twera w1 AW fafeg 1
(v) wev W w ety W ® 2

(F) Trg @ fowr ¥ WHE SEE S TRl TSR /R

®r oween % 9 fafey |
(=) g = fauysA | e el o w5 W
fafen | _
() Trel wgE Siem oes %7 W fafeg |
(3) eTErET B feel B USR W St wifeg |
() ‘o B Tares’ WSRO $ TEER P T ?
(=) Freey w1 el & e = am fafeg |

(2-0U5) 115053 3 600
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BAQ/M-24 15054
PUNJABI (COMPULSORY)

Time : Three Hours] [Maximum Marks : 86

L.

¥ e w&dt e fan feg @ des w3 T
83 %z f=g
®) wg »oms &
() @9 I wIew
(€) = gde 5
d5 fed Ofprt fef far € & yhor wlig foder
g
(@)ﬂ:?waagﬂarféarwfgeﬂmuw%agi
Gtfr wefe wr afy Wl R fim
58 fed g% wama dfr s wefy 3
feg 3Rt seawr T Sheker 33
() a0 T W ST T wE & Suaml
ATyt medt swa @ew mwl
€ B word e wmp R
Jai d& ® BAT 9T 91
Hol el dwWe A¥ mon|
Sfe -3fe Jww w3 waEm WE

01D 1L-15054 P.T.O.



) sder ¥ 3 wals = I

g fsy & B4l
sz fodfles wio fig oler afg 2yl
104+10=20

J5 88 Togoamr feg faf fea € #iest ¥ ogsr
83 S fei

® T v fw
() fifus 3w
(®) wewmm fHw fssH 5
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BAQ/M-24 15057
SANSKRIT (ELECTIVE)

Time : Three Hours] i [Maximum Marks : 80
Az . gl W etEd ¥

1, Frefafe e $ W dANT ¢ 2%8=16
(%) ‘wmmdver w1 owm ol ¥ 2
(@) % gaier ¥ wEeer v e R o2
(1) e ® e Tl € 2 s W e |
{8 e - R | (Terer/feaeEn)
(¥) v & Ta-RE @E Y ?
(=) T gwﬂ‘%ﬂmiﬁ‘ﬁﬂﬁmm% ?
(z) “am”, et B ST WS ST |
(s ‘e @ dm § Few fauie w1 W @ € 2

- (a)ﬁmﬁﬁaﬁﬁﬁwaaﬁhﬁﬁmnwr@ﬂ

HI ¢ 5x2=10
(F) wE BE T gE T e |
srpasisty wReS R e U

(7-04/22) L-15057 P.T.O.



(@) VSRS Sh: g A weher |
-
‘wfggeami walw gRT W& N
(M) wEEEEs e T,
ofeafty feriviciagaedt oifa |
ToufRTHRT ST e,
fpfge & WOl WUSH AR
(=) Telt ww gfe W 9uET e w0 6%1=6
(&) *M: @m wad |
s
(w) wfawear wate gufer waa |
3. (=) sy = el § e Se w1 e Hi |

ST
FfaeE % Sea-aiEd § @Rl @1 fads
B | . 10x1=1¢0

() frafafen § @ = @ ® feufel e -

e, TR, SOEEE, TR | 2%3=6

L-150657 ) 2

4 (%) TEs o avd fea skoia SR o

e :
A wifew & G ufEE QT 1 10x1=10

(@) Frafafa o @ el @ W fewfter fafag s
Feifs, TEWRG, ARfE, MR | 3%2=6

5. (%) Frafafes 94 @ &l o ade] & Q&0 9SSR
ofed =EA HIEE ; 4x%2=8
S, IFE, T, I |

(w) frfefen § ¥ R @ ml W SIEw whe

: S R : 2%0=4
uSt VY, OeERaH S, Ogel OuEn, 9w

. atfeRdt =

() Prefafee § @ & @ @ S 9iew
Al BN ¢ ' IxP=4
wafa wem, Simye, SREUEeAR | '

(7-04/23) L 15057 3 700



1

. 5. What is water pollution ? What are the main sources of

water contamination 7 Suggest the strategy for control of
water pollution. § 4+6+6=16

el FEEO @ T NS § 7 S U qeA €a F
£ 7 v v 5 FEhE W ® ST waRg |

Unit I (3&t8 100 )

6. Critically examine the Heckscher-Ohlin theory of
international trade. 16

7. ‘Foreign trade is an engine of economic growth’: Discuss

the statement. i6.

el SR it fawTa W SR € 'S wed &1
SO HIY, |
© Unit IV (3R IV)

8. What is foreign trade multiplier ? Explain its forward and
- backward working. 16

frell =R s w4 § ?wﬁa?rﬁafﬂtﬂ@aﬁmﬁ'

g =7 =es sieg |

9, What is meant by World Trade Organization ? Discuss its

objectives and functions. 4+4+8=16 -

v AR GUST A T SNV T ? 599 Sevd Ol S
. S WIS |

L-15058 4 800
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BAQ/M-24 15058
ECONOMICS '

| Time : Three Hours] [Maximum Marks.: 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions selecting one from each
Unit. All questions carry equal marks.
w0 ufer Tl SR AT | WA wHiE 1 e 2
T THE Y W 99 S gL IR IR W 5@
TR | ol WA R A S T

Part A ( 707 21 ¥
Compudsery Question ( e weT)

1. (A) (© What is real national income ?
armfos TS o §. 5 o § 2
(ii) What is the ‘meant by life expectancy index ?
e weEen gewis 4 s afam 02
(iii) What do you mean by disguised
unemployment ?
fodl SR § w0 abmE ¥ 2
(iv) What is meant by balanced growth ?
dgfea T 9 = R )
(7-04/14} 1 ~-15058 ; P.T.0.
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1-15058

(v) Define healthy environment. -
v vEteRer @ R fe |
(vi) What can government do to reduce pollution ?
TET Y B H O FER F A el
g 7
(vii} What
development 7 :
a4 O w9 © 2
(viii) Who propounded the theory of comparative

do you mean by sustainable

costs ?
ForTeTs AT fagia 1 e fema fean ?
(ix) When was IMF established 7
o T TE @ e wE g A ?
(x) What is the meant by export promotion ?7
frfg weeET Q@ w0 saE €2 10x1=10

Part B($TRT &)
Attempt any three questions. Each question has
2 marks. 3Ix2=6
(i) What is the difference between real per capita
income and monetary per capita income.
(i) What do you mean by population explosion ?
(iii)y Attempt ftwo demerits of International Trade.
(iv) Suggest iwo measures for correcting India’s -

adverse balance payments.
Z

ﬁ%ﬁ\ﬂwﬁﬁmlmwézm%l

() s W StE oE TN Wiken Ui S A
¥ @ o ¥ ?

(ii) e feRE ¥ o W T € 2

(iii)m@awﬁﬁaﬁﬁﬁtml

Gv) e e gEE W F 3 w F R

T TOEd |
Unit 1 (%08 1)

3. What is Economic Development ? What are its
deter;ninant factors 7 4+12=16
st e § w0 s B 2 o s o S
€7 ' '

3. Discuss and critically evaluate the Lewis model of
development. ‘ 16
e & fowm wiew = ST AEiE hiteIg |

Unit (3o 1)

4. What are the environmental consequences of growing
population ? Discuss. i6
Tt SFEEn @ wEeRe Gl uRow F ? =
witry | '

(7-04/15) L -15058 3 PT.0.



(*7) 1215
(F) 1628
(d) 1679
() 1689

(@) UsA B

(¢)  France

L-15059
8
4,050

Jio. ‘ Total Pages ; 08
BAQ/M-24 15059
POLITICAL SCIENCE
Opt (i)

| Comparative Government and Politics
Government and Politics of UK., US.A.,
China and Switzerland

[Maximum Marks : 80

e : Three Hours]

Attempt Five questions in all. Select at least orne

pte
question each from Part A, B and C. All questions

carry equal (16) marks. _
@ﬁﬂﬁwmlﬁm‘w’,‘a'ﬁm‘ﬁ'
vdw Y wH Y T TH W BT R AR

8 o e @ ww e (16) €

Part A( 9T 31)

What do you understand by Comparative Government

| L.
and Politics ? Discuss its nature. 16
TS TR T TeAi § S TR § 7 T
ysfa T == I

(-04/16)L-15059 P.T.O.




2. Discuss the Traditiona] Ap

e

4,

6.

L-15059

proach to the study of;
16}
IR feehior o i

Comparative Politics.

mwﬁﬁ;ﬁaw#
Hifsy |

What do you understang b.y the te
Discuss in detail the |
Constitution. )
I W ¥ e gy T ¥ 2
T TRlvaeT w5 faew @

mm ‘Constitution’ ?
salient featurés of Indian

16
RiciLiE: R
HiT |

What do you understand by

16

Define Interest Groups and Pressure Groups. Discuss thejr
role in Political System of Switzerland.

o1 Y ol <o e ) R FRT |
Eﬁt ST e & wa e e

16
ez
Fifm '

2

16 |

7.

i hinese
Discuss the Socic-Economic bases of C _

16
o s % i spad = T

i R . -
Discuss the role of Women in China’s Political proce

e & i 16
Discuss in detail how different it is from India. 5k
ﬁﬂaﬁtmﬁ'ﬁmﬁw@waﬁﬁqg@ ﬁm.
| wiftw fF 75 W ® T
Fifew 1 fawr 9 ==
g7
Part C (90T |) |
ing :’ 4x4=16
9. Give brief answer to the following : i s
. a) Discuss the scope of International Relzftl-ons. ‘
Eb) Discuss the features of Indian Political Party
System. . . .
(c) Discuss the Socio-Economic bases of Indian
Constitution. ‘ . - o
(d) Discuss the status of women In American Political

System.
frefafen & diia ) Y .
. & .ﬁ ,a?,_ ﬁ-@é‘i a’-ﬁ‘ aiﬁ aﬂm I

(o) e T < o 4 st 1
1 . . .
) Wmﬁﬂ v @ gEfe-onfds el @
() maiﬁﬁﬁlwﬁﬁﬁ wmen ° dfeened @ fafd 9
== ST |

| P.T.O.
(-0417) L-15059
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10. Multiple choice questions :

FEfapedy woT .

(1)  What is the term for a system of government in
which a single pohtlcal party controls all aspects of -
‘government and suppresses opposition ?

(@  Multi-party system
{b) Dominanbpartf system
(©) Two-party system
(d) Single-party system
TR I TN A ww oo ¥ R T
g oI S weR @ gt TGS W Tk
| H ¥ SR v mawy § o
(3-'1) FESWT  Juneft
(F) "HE-9= gorei
(/) fo=efia gomedt
() Twa-=dT et |
(i) What is the term for a political system in which
power is concentrated in the hands of a single
" Jeader who rules through fear and mtumdatlon ?
(@ Oligarchy
(b)- Monarchy
(c). .Totalitarianism
(d) Fascism

L-15059 )

8)(2—._-1 6.

wi ibes a federal
Which of the following best descrl
(iii)

stem v t
y of go emmen ? §
sa t A system where power is concentrated @ he
() Y

tional level. )
3 here power 18 divided between
w

stem
© A s:{m‘. government and subnational umt: )
. zZe
‘ g tem where there is no cenftrail

(c) A sys '
overnment. . o
i stem where power 18 held by 2 sing

(@ sy

authoritarian leader.

ﬁﬂwﬁﬁ@ﬁﬁwwﬁmwﬁm

ﬂaﬁaﬁmavham%?

&
(a)@&@rmaﬁsﬁmmm

)

“ P.T.O.
(7-04/18) L-15039



(iv)

)

- L-15059

Which one of the following is not a feature of the
British constitution 9

(a)  Written constitution
. (b)  Unwritten constitution
() Flexible constitution

(d) - Parliamentary government '
Tfefen & @ %7 Ry Heu w5 felwar =
@2
(31) fafew wigum
(%) oifefEn dfym
(W) weilen digems
() ¥&&T weR
Which country of the following is an example of
parliamentary Supremacy ?
@ USA
(b) France
(¢) . Communist China .
(@ Great Britain

(vi) “The king can do R0

(vii) Magna Carta,

(7-04/19) L-15059

s o Th

frefefed 3 A B W AW TS W
S 7 2

(31) TR

(@) wE

(@) wafre =i
() Ie =S wrong’ is a phrase associated
with :
(ai) France..

(b) China

(©) India

Britain ,

‘(:351} g e e e B FRd A
T

(@) = @

(|¥) 9 3l

(=) B @

the first historic charter of Great

i i ear :
Britain was signed in the y

(@ 1215
(b) 1628
() 1679
d) 1689 —
7



Roll No. : Total Pages : 03

BAQ/M-24 ) 15060
HISTORY
Opt.-1 (Group-V)
. Ancient and Medieval World

Time : Three Hours] - [Maximum Marks : 80

Note : Attempt Five questions in all, selecting one qu.estion-
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks. -

T W Y T wr S| gq, Eagiie e wﬁ e
W?{mlmmlaﬁaﬁ%|wm%
IHF W T

Compulsory Question ( 31T )

1. Answer the followix:!g questions in short : 4x4=16
(8) Augustus Caesar ‘
(b) Neolithic Revolution
(c) Serfdom
(d) Origin of Sufism,
Frefafen vot @ sw waw ¥ G
(31) siimey R
(&) Teamor g
 (528/1) 115060 o . PT.0.




3.

() whed
(3) YwlER H Iafa |
Unit I @zmé'r)
Throw light on the pélity and society of ancient
Mesopotamia civilization. | 16

W%ﬁmwﬁmﬁraﬁtwmm

Jgifem |

Highlight the salient features of society and economy of

" ancient China civilization. 16
mﬁm%wﬁﬂw@naﬁwﬁﬂm o

T SR HifE |
Unit I 313 1) _

'Write a critical ‘note on the Roman Republic period. 16

I TS R W TE e el fafew |

Write a detailed note on. Manorial System. 16

Hifaa IR | ﬁ'ﬁﬁ feooit fafeg 1
UmtlII(Sﬁl‘s;‘l]I)

.. Highlight the Evolution of Islamic State undcr Pmus

Caliph. _ 16
TS TelEel @ el TEtE U B fae
Wﬂ'aﬂﬁml '

L-ISOG{I i ; 2

7.

9'

Throw light on the main features of Arab Society and
Education System. | 16
mwﬁ:ﬁmwﬁg@ﬁ@rﬂmﬁmm
e, |

Unit IV G&E IV)
On the map of the world, show the expansion of Arab
empire in 1258 A.D. Add write a note also. 10+6=16
fova & TREE W R e % R (1258 3) W@
T9ise | U feon st fafEg | ‘
On the map of the world, show the important palaces
connected with the Greek civilization. Add write a note
also. ' 10+6=16
fova & wRfEE | gAF W@ ¥ daivn 989 @ E S
Twhigt | & fewet «ff fafeg ’

(5-28/2) 1-15060 3 4,200



9, Show the important centers of the Industrial Revolution
on the outline map of Europe along with explanatory
_motes.
o @ e W ¥ S Wi @ e S
= s femforl gfed <wisy |

L-15061 4 4,200
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- BAQ/M-24 15061
HISTORY
Opt.-ii
Modern World

Time : Three Hours] - [Maximum Marks : 80

Note :

Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All-questions
carry equal marks. Blind candidates may attempt any
other question in lieu of the map question. If they wish
to attempt the map question the explanatory note will

carry full marks.
@ TR N ¥ TR WH TN g, W uie W
& v AR | W dew 1 wfEd ¥ wf W
3 o WA § 1| W wdenel wwie W W
3 wr W fEl oFg W % TR % 'R ¥ AR
3 TR e TR % WY €, W SIes
feomlt & R F BN |
Compulsory Question ( 3rFarRt 797)

1. Give short answer of the following :.
(@ Who was Martin Luther (1483-1546)?

(5-08/7) L-15061 : P.T.0.



(b) What is the “Third Estate’ in the context .of" the
French Revolution ? |

(c) ‘Boston Tea Part)r"in American History.

(d) Who were the ‘Bolshgvik’ in the Russian
Revolution ? .

et & Wi 3w Qfmg @

() =MET R (1483-1546) HF o 7

() Wi wifd & ¥l ¥ ‘ol o s § 2

(W) eAfE & sfem & ‘drew & gEl |

() wH Wi A B oS 2

Unit I (3= I)

Define Feudalism and write an essay on the main causes

of the decline of feudalism.

.Waﬁ?ﬁwﬁﬁm@mdﬁqlq%qm?ﬁm'

SR Ry fafeg |

Throw light on ﬂ.le'causes of shifting of ‘economic balance’
from the Mediterranean to thé Atlantic region.

TR 4 Y el 4 ¥ b e @
I % RO W W S |

L-15061 . 2

Unit H (37 1D

What do you mean by Mercantilism ? Write an essay on

its expansion in Europe.

IR W ST T W ¥ 7{{’fqﬁ3ﬂ¢ﬁﬁmﬂt

T ey fafEg

'Ihrqw iight ‘on the effects and regulfs of the French

Revolution.

HEE wifd F guE iR wReml W v o |
Unit ITT E=E 11D

Describe a few main causes along with the immediate

cause of W;yrld War I, '

W foRT Ig % aehias SR GRE o Wi wmRol

H1 qUA HIEY |

Describe the causes of the Russian Revolution of 1917

_1917%ﬁﬁ¥ﬁm$wﬁwaﬁﬁaﬁml

Unit IV (5&18 1V)

Show the important centers of Renaissance on the outline

m'ap of Europe along with explanatory notes,

9 @ e W § T @ Gyt B
T o ¥ e wfeT |

(5-08/8) Y.-15061 3 . P.T.O.
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BAQ/M-24 15064
SOCIOLOGY
(Population and Society)
Opt.-(iii)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 9 is compulsory. All questions
carry equal marks.

W TE ¥ OUH WH 9 BE, HW W T ®
IW AT | W "o 9 efted T 1wl Tl &
IFH wH T |

Unit I (3= 1)

1. Discuss the meaning and significance of population studies.
SEE a1 o1 I TUe Wew &t sared Hifeg |

2. Define Migration and discuss its Pull and Push factors.
Hard B IR HINT IR e mYe 9 TawSe

FEH HI T Hied |

Unit I (3% 1I)

3. Critically examine the Malthusian theory of population
studies,

HRUE & SHEE figrd 1 eEAas The Sy |

(8-11/4) 1-15064 RT.O,



Critically examine the Biological theories of population
studies.

TEET % Sfom fsr o SeeeE e ST )

Unif IIT (%18 100)

Write a detailed note on religious composition of Indian
Society.
IR HHS S i T R T e feorh fafey |

Define Rural Society and discuss ifs characteristics in
detaile.

URTOT WA el R eIty SR s Treivaet w5t
Toga =arEn i |

Unit IV (SHE IV )

Describe about Family Planning in India and discuss its
hindrance factors in detaile.

7w # ufEr RN e ovy wifvg R sue wEw
SReh! ot fawge =IRen Sifey |

Discuss the main objectives of “National Rural Health
Mission” in detaile.

"ot oY wWRew A % Sedl o) fasga e
Hifeq |

L-15064 2

Unit V(5&E V)

Compulsory Question ( 3R 997)

9. Write short notes on the following :
Trafafem « dfie femfrer fafaw -
(2) Define Fertility.
YAl I UREISG i |
(b) Optimum Theory of Population Studies,
SOEN AR H1 Ihad fas |
(¢) Urban Society.

TRE TS
(d) Discuss the causes of female foeticide in the Indian
society.
IR IS § T YRS % HRUI S Sl
g |
(8-1U5) 1-15064 3 250
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BAG/M-24 15065-N
MATHEMATICS-I

Time : Three Hours] [Maximum Marks : 27

Note : Attempt Five questions in all, selecting at least one
question from each Section.

Section I

1. (a) Show that the function f defined on [0, 1] by

if xis rational

f xis irrational is bounded but not

1
f(x)={_1

R-integrable. 2%
(b) Show that every continuous function defined on
[a, b] is R-integrable on [a, 5]. 3

2. (a) Verify first mean value theorem for the integral
2
-I.o (4:c-3 ~3x? —4x) dx . 2%

2b  dx
(b) Test the convergence of the integral .[o (2 b)z.

3

(2-12/7) 1-15065-N P.T.0.



3. (@
(b)
4. (3
(b)

Examine the convergence of
I: cos ax —cosbx . 95
x
Evaluate : 3
log(14 o
J a_.g.g._.(__,z_)_ dx’ a>0
0 1+x
Section II
Test the convergence of the series : 3
oo n
n=] A
for all real c.
Obtain the fourier series expansion for the function
f given by : 2

x—n when—m<x<0
T—x whenO<x<n

f(x)={

5. Show by an example that second order partial derivative
of a function may exist at a point but the function is not
continuous thereat. 3

6. (a)

L~15065-N

Section III

Prove that an analytic function with constant
modulus is constant. 2%

(b) Show that wu(x,y)=e¢*(xsiny—ycosy) Iis
harmonic and find v(x, y) such that f(z)=u+iv is
analytic. 3
7. (a) Find the bilinear transformation which maps the
points z = 1, i, —1 into the points w = i, 0, —i.
Hence find the image of |z <1. 2%
(b) Find the mobius transformation which maps
R(z) = 0 into the unit circle |w|<1. 3

Seetion IV
8. (a) In a metric space (X, d), show that a subset G of
X is open iff it is the union of open spheres. 2%
(b) Let (X, d) be a metric space and let d(x, y) =
min {1, d(x, y)}. Show that 4% is a metric for X.3
9. (a) A metric space is complete if and only if every
Cauchy sequence in it has a convergent subsequence.
2
(b) Prove that every compact metric space is complete
and totally bounded. 3
10. (a) Prove that the set of real numbers with usual metric
space is a connecied space. 2%
(b) State and prove Cantor's intersection theorem. 3
(2-12/8) L-15065-N 3 500



9. (a)
(b)
10. (a)
(b)

L-15067

Section IV
Explain the inverse transform method.

Generate 10 Pseudo-random numbers using the
recurrence formula X, = 4X,(1 — X)) starting from
% = 0.120,

Using the Sample Mean Monte Carlo method,
41
imate the i —dx.
estimate the integral _[0 .

What is Monte Carlo method 7 Also write its
applications.

4 500
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BAQ/M-24 15067

MATHEMATICS
Paper BM-303 Opt. (i)

Programming in ‘C’ and Numerical Analysis

Time ; Three Hours]

Note :

®

(b)

(For B.A. Candidates)

[Maximum Marks : 20

Attempt Five questions in all, selecting at least one
question from each Section. All questions carry equal
marks. Non-programmable scientific calculator is
allowed.

Section I
Draw a flow-chart for factorial computation.
Describe the process of computation and compilation
of a sourse program in C.
What is a nested if statement ?

What is the recursion ? How recursion is
implemented using C language 7 Illustrate through
a suitable example.

‘What is the connection between a structure and a

new data type ?

(3-05/7%} L.-15067 ET.O.



(b)

4. ()

(b)

5. (a)

(b)

6. (a)

L-15067

What are Files ? What is file formatting ? Illustrate
the importance of file formatting through suitable
examples.

Section 11

Find real positive root of the equation »2-x-1=0
by bisection method correct 1o three places of
decimal,

Find the 1oot of the equation x3 + x? +x + 7 =0
to three places of decimal by the secant method.
Use Lagrange’s formula to find f(6) from the
following data.

% J@)
2 18

5 180
7 4438
10 1210
12 2028

1 1
Evaluate ——dx by using Trapezoidal rule
0 1457

1
taling ="
ing A

Solve the following equation Dy triangularisation
method :
5%x + 2y +z =29

x+4dy +2z=4
2x —y + 10z =44
2

(b). Find the largest eigen value and the corresponding
eigen vector of the matrix :
1 3 =
A=|3 2 4
-1 4 10
Section III
7. (@) Solve the differential equation :
d
?é:—xyz,y =2 at x = 0 by Euler’s modified
method and obtain y at x = 0.2 in two steps of 0.1
each.
dy : .
(b) Solve g =x+ ¥ using Taylor’s series method. Start
fromx=1,y=0and carry 10 x = 1.2 with A= 0.1.
8. (a) Find the least square approximation of second degree
for the discrete data :
x ¥
-2 15
-1
0 1
1
2 i9
(b) Prove the recursion relation T, (x} = 2xT,(x)
~ T, (). Also find the first four Chebyshev
polynomials.
(3-05/18]1.-15067 3 PT.O.



(viii) What is Blood Doping ?
= et = £ 2 Roll No. Total Pages : 04

(i?{)_ Discuss the law of acceleration. BAQ/M-24 15069

% TR W S S _HEALTH AND PHYSICAL EDUCATION
(x) What is class-I lever ?

Y] YHT Hi m =7 '%- ? Time : Three HD]JfS] [Maximum Marks : 70

Note : Attempt Five questions in all, selecting ore question
each from Unit I to Unit IV. Unit V is compulsory.
W 1 Y wE IV T T E Y T ue TR
L, I U T % W RN | wE V sfEr

=1

B

Unit 1 G D)

| 1. Explain the process of socialization through sports in

detail. Write down the effects of social behaviour on the
performance of sports person. |
S @ g TR W U faE avi iR |
' e eHeER il Roeifsdl & Teei W U oW e
= fafew |
2. Explain the principles of growth and development in
detail. i
gis o fom & Taeid & fowga auR ey |

L-15069 4 700 (5-20/14)L-15069 P.T.C.



3'

Unit T1 3= 1)
What do you mean by good posture ? Explain the causes
of poor posture.

WW@WWW%7§WWWA

® HRUI B GV HINT |

_What is the meaning of intramural tournament ? Describe

the general principles of organization of intramural
tournament. i
TR AR S eﬂfw ? Tered REtE
B omeE @ A Al W SwE i |

Unit XI G5 TED)
What do you mean by Blood ? Explain the composition
of Blood ? :
R W o9 F WEEE € 7 WA IR A T B G H
forga wui =i 1 '
Explairi the structure and mechanism of digestive system.
o W W W T S W A |

Unit IV (5518 IV)
What do you mean by Doping ? Explain different types

ofdopmg
éﬁﬂﬁmwwﬁ%?a’rﬁra}ﬁﬁmm#{
THERY |

FPRLEES 2

8. Explain Newton’s law of motion. Give its f:tpplicaﬁon in
Physical Education.
n@q%wﬁr%ﬁwaﬁmwnﬂﬁamﬁm
ST TARY |

itV EEE V)
9, (i) Defive Motivation,
afqgien & TR HifsE 1
(i) What is Intrinsic Motivation ?
stiafes e w1 8 ?
(iii) Explain Kyphosis.
FFET B TIARTY |
(iv) What is Seeding Method ?
difen wsft = § 2
(v) What is the number of matches in knockout
tournament ?
Herse Tde ¥ FNX W Jew fewd B T 7
(vi) Explain the types of connective tissue sheaths.
s SOF B ST & UHR B G HIWT |
(vii) What is the difference between Voluntary and
Involuntary muscles ?
Hiess ot Pfes walRr & 9 oW § 2
(31D ~15G69 3 BT
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Roll No. - Total Pages : 03

BAQ/M-24 15077
SOCIOLOGY

Paper I, Opt. (1)

Indian Society

Time : Three Hours] [Maximum Marks : 90

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 9 (Unit V) is compulsory. All
questions carry equal marks.

TOF TR ¥ TH U P BC R O Y
I AT | T T 9 (sEE V) e B 1w
T B SfF wIH T )

Unit I G&E D)
1. Explain the nature of Urban Society and also differentiate
between Rural and Urban society. 18

TEG THS % ysfe @ avly ST o) e 3 ved
e H R o s

2. Discuss the core aspects of unity and diversity of Indian
Society. 18
SR & sfoere TE UeHia e $ Wy ey @
= =R |

(3-06/5) 1-15077 PEa.




Unit 11 (557¢ 1)

3. Define Marriage and also explain various types of
marriages. 18
oo =1 o iR ik foar @ R weR W=
U Ry |

4, Define the concept of Kinship. Discuss its role in Indian
society. 18
A A U ® a1 e F ot
e @ == Sifwg |

Unit I (g3 TII)

5. Define the concept of Globalisation. Discuss its effects
on Indian society. 15
THETRIIT HI STEHUROT Hi R g | wwdE v
W I TS ) I wmieg |

6. What do you understand by Sanskritisation ? What are its
main characteristics ? 18
GRpTOr ¥ ST T WER ¥ 7 S qew faveand w4
€72

Unit IV (z@1E V)

7. What do you understand by casteism ? Also explain its
effects on our society. 18
SfEIE ¥ A9 = THH ¥ 7 TR UARl W T wwet
T o we SNy

15077 2

8. Write a detailed note on the issues related to religious

L

minorities in India. 18
oA A uifie sewEe sl % WE W W R 9w
fefaT
Unit V (gF1E V)

Compulsory Question ( e 79 )
Attempt all questions : - 4.5%4=18
(a) Features of joint family.
(b) Demerits of caste system.
(c) TFunctions of religion
(d) Types of kinship.
ol e T Wi
(3) 3w dfeR =1 T e
(%) wift wmEr ® s
(W) 9o & wEE
(%) R & WER |

(3-06/6) 1-15077 3 700




Roll No. _ Total Pages : 03

BAQ/M-24 15078
SOCIOLOGY
Paper IT Opt. (ii)
Social Problems in India

Time : Three Hours] Maximum Marks : 90

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 9 is compulsory. All questions

carry equal marks.
Y §HE W Uh W OO §¢, fo uie Wel @
TR LY | T gEm 9 IfEE § 1 ud e @
3w T T )
Unit I G&E )
1. Define Social problem. Explain the importance of social
problems. _ i8

wHfSE T S IR e | s s &

R Taﬁ e BT | ‘
2. What i1s Anomie ? Explain the views of m'erton on

Anomie. 18

fgnfs = € 1 ol w wER @ el @ mw
s | _

(3-06/9) 1~15078 ' : RT.O.
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Unit II (38 D)

Define Class. Explain the class structure in India. 18

i &) AR SN Ra § W 9T S R S |

Who are Minorities ? Discuss the problems of Minorites
in India ? Explain the constitutional provisions for
Minorities problems. 18

AETEHETH B T ? AN W SRUGETH W Wl W
= wif | owdersl W weEmet & faw gdufe
TEEF W T RN
‘ Unit I (3T 1)

What is Female Foeticide ? Discuss the causes of Female
Foeticide in India. 18
I YU-EE N § 2 R A el YUI-Sedl @ HRU W
== sifwg |

What is Dowry ? Explain the causes of Dowry. Also
discuss the affects of Doviry on society. 18

L R D IR W wWe SR | N R
oo @ FUE |/ o == FiET |

Unit IV =8 IV)

* What is the meaning of White Collar Crime? Discuss

the effects of White Collar Crime-on society. 18

TR Ay & Y = R 7 9 W eSuN STy
w THEl W HEl ®iNe | S

I-15078 2

8. Write a detailed note on Drugs Addiction. 18

W H T R TF Tage foanit fateg |
Unit V &% V)

Compulsory Question(afrﬁaﬁ T )
Write short notes on the following : i8
(i) .Alienation (ii) Deviance
(iii) Patriarchy - (iv) Domestic Violence
(v) Divorce (vi) Gender Disorimiggﬁon
(vii) Suicide -

Frfafeg w dfye feofrl fafay -

(viii) Corruption.

Q) e (i) wews=m

(i) o (v) e W
(v) W (vi) fom S
(vii) :mmm (viil) 9RER |

(3-06/10) 15078 3 1,000



L-15084

AT F T 202122 Tt T B ?

(31) M= TR
(9) . dHarmA
() "y fHg

(®) @ we

- 4,200

No. ' "Total Pages : 08
BAQ/M-24 15084
POLITICAL SCIENCE
Paper : IL
Opt.-ii

Public Administration

he : Three Hours] [Maximum Marks : 90

lte : Attempt. Five questions in all, selecting at least one

question from each Part.

mm%wﬁwqaw?ﬁ@,qmw‘h

T B SW g |

Part A (W ‘31

Define Public Administration and discuss its scope. 18
S TR E U R 1 W =
g | .
Discuss the main features and goals of New Public
Administration. 4 i8
Ww'wﬁgg@ﬁﬂwﬁaﬁtwﬁmw
Hig | ' ‘
Critically explain the Human Relation Theory of

Organization. . i8
dTe & weeE weE fagia W SRR T I |

{s-11/1) 1-15084 P.T.O.




: - Decentralisation
4. What is Hierarchy 2 Explain its merits and demerits. 18 (d)  Centralisation and .
TREE Ty 22 e T e S a5y oy Fifm | (e) Administrative _Accountablhty
; 4 . ¢ ( f) TypES of Recruitment.
Part B (W7 ) - e e | )
S. Critically deseribe the Max Weber’s views about (31) i WO % AEREE W YA
Bureancracy, : 18 (9) TsFIR S wRIE
ﬂaa?}at#‘vﬁmmaﬁtﬁgmm AT ol (@) e wEy
T | ' (R) HEm R fehsde
6. What is Training ? Explain its types and advantages, 18 ® =

T |
Ww%?w@mmwﬁmmﬁﬁmif ) il 5

' 10. Objective type (multiple choice) questions :  9%2=18
7. Describe the main techniques of Legislative control over ) fredia) T
.. p i ﬂ@ﬁg ( ) . H bl'
Administration. - i 1 (i) Who is not the supporter of ‘Integral view’ of public
mﬂe{fr R i e @ @ T w5 H’”h-ﬁﬁfq & e iy
8. What is Budget ? Explain the process of formation of (a) Fiffner
budget in India, - _ 18 (b) . Woodrow Wilson
WW%?W#WW@WWW (c) Simon
STy | : " () FS.Max ' :
i TR H TR, AR B el
Part C (w1 ‘@) .
g w g ?
9. Short answer type Questions : © 6x3=I8 @) fFFR
(8 Methods to study Public Administration (@) gt foem
(b)  Politics and Administration (|) 9=9F

-(€)  Scientific Management () whTE we

+ 4 P.Tl 0'
L-15084 2

{5-11/2) 1.-15084 : 5




(i) “Administration is concerned with “What’ and ‘Hov‘v’

(iif)

L-15084

of the Government.” Who statement is this ?
(@ L.D. White
(b) M. Dimock
(©) S.E. Finer
(d M.P. Sharma
Y W ® T ek %@'%mﬁa% M
IE FUT FREwm g 2
(31) s =i
() @ feurs
(F) WE FER
() wrd. wmi
‘Bureau’ is derived from which language ?
(a8 French
(b) Latin
(c) English
(d Greek -
T e oW S W= 9 R w2 o
) wy
() e
(|) o
(%) =

@iv)

V)

(5-11/3) L-15084 _ 5

“Through proper channel’ js related with :
(a) Span of control

(b) Hierarchy -

(¢) Centralisation

(d) Unity of command

‘g T BRI’ H HeE ¥

(z7) Friam & &% ¥

(@) weEE d

_(H)ﬁwﬁ-

() oRW ®H THA U

“There is no better test of excellence of the

government than the efficiency of its judicial

- system.” Who said it ?

(a) Willoughby

(b) Gamer

(¢) Simon

(d) Lord Bryce

UEp wER @Y W SR @ fag Seel =
e A deEt FE wE R e v ¢ 1 W
fores waT ?

(=1) ot

() TR

P.T.O.



| : () SEE

() wie WEE
e _ . ) ¢ q £
(v) When was liberalisation initiated in India 9 ()
@ 1991 ‘ | ' & (R) W=
(b) 1992 I (viii). Who is known as the father ‘of Scientific
() 1989 Management ? .
(@ 1990 { (2) F.W. Taylor
it ' ;
A TR e T& o1 ? 1 (b) FE.W. Riggs
(31) 1991 © 3 .
' () Henri Fayol
() 1992 ' : :
T : ; | , (d) Luther Gulick
; SufE wE w1 WS TEQ WAl SR ¥ ?
) 1990 ! i
i - ‘ T (1) THEISY, <
(vil) Where is the Indian Administration Services Training - : -
(a) Hyderabad . A (W) ¥ oA
(b) Dehradun () TR TEH
{¢) Mussoorie S (iX) Who presenied the Budget 2021-222 in Lok Sabha?
| (d) Bhopal , (a) Narendra Modi . |
F— ]
;R?ﬁq_ SRS Wl w1 wfera teom Fal fiem ] () N. Sitaraman
? / :
o : ' € (¢) Rajnath Singh
1) temaE =__
| (@) Amit Shah

1-15084 ] ‘ :
: _ (5-11/4) L-15084 P.T.O.




Unit V(S&E V)

Roll No. ; . Total Pages : 04
8. What are the causes of agricultural backwardness in India ?
, , ) BAQ/M-24 15085
Give suggestions for improvement. * 18
g § s B FESE @ T 5 5 :ﬁ PUBLIC ADMINISTRATION
& 1 i ' Paper : Opt(i)
Time : Three Hours] [Maximurmn Marks : 90
9. Give an overview of five year plans in India. i8 .
g ety deell w5 e W R | Note : Attempt Five questions in all, selecting one question

from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks. '

7% THE § TH W W gy, |9 e T %
s AfT | T dew 1 ofed R 0wl wE oW

. FiE wHA § 1 -

| Unit I

i ECIER |

‘ 1. Attempt all parts : 2x9=18
! (i) - In which year Advisory Planning Board was set up
I in India ?

! (ii) Who is author of the Book "Planned Economy for
| India" ?

(iii) What is full form of UGC ?

| (iv) Who heads State Planning Board ?

(v) In which "year" Untouchability Offences Act" was
passed ?

L-15085 -4 ‘ 1,250 , (7-12/18) 1.-15085 PT.O.



(vi) What is full form of UNICEF 7

(vii) In which year National Commission for women
was set up ?

(viii) The subject of Public Health" is included in which
list of the Constitution ?

(ix) Who is Head, of Health Administration at District
level ? -

gt 9 & IW BT : o

() vRd ¥ worer fEem @ = www e ad
= 2

(i) "Planned Economy for India" T F FEF S

. ® 2

(i) UGC & W 5 1 T 2

(v) T AT A€ W S M sk ¥ 2

) uEm oWy afufem R osd 9w ogem ?

(vi) UNICEF & T ® fafeg 1

(vi)) T Hfeen oM ® www R oW w2

(vii) Sfear R Fre g A W WReE W o
it fem o ¥ 2

(x) foem R W wRed wORE Res @R e €2

Unit I (51E 1)
'2. What is Development Administration ~? Discuss iis
SCOpe. 18
G TN I % ? TEE &% Wl o iy |

L-15085 p

4‘

Define Welfare State. Discuss efforts made by Government
of India for establishment of Welfare State. 18
FENUER TS B IRa T | uRa o e &Rl
T B e % few fRY AT Wl ® EvH i |

Unit X1 (=618 I00)

Describe composition, functions and role of Planning

Commission. i8

friter SN HY T, G GO S W A H |

Critically examine problems of educational administration
in India. Suggest remedies. 18
yRa W eSS P SRSt T S EAed e
T | SUER & gaE w0l S |

Unit IV (3ot IV )

Discuss composition, functions and role of Central Social
Welfare Board. 18
S TN HEET A H T, HE Ul YHRl W@
JUA HiSg, |

Write an essay on "Welfare of SC and ST". 18
sy St e weenfaE o s W ey fafe )

(-12/19) L-15085 3 ~ PT.O.



(v) Which type of therapy ECT is ?
(b) Psychodynamic

(¢) Behavioural (d) Cognitive
i#. fFe WR = e § 2

(a) Biological

(1) S (€) TR
(9) IErRar! (%) TFTHS
Unit V & V)

9, Explain behaviour therapy in detail.
R TafEe TS W fRga 9vH wifg |
10. What is Psychotherapies ? Explain it goals in detail.

TR UshEl w1 T 2 @ s @ RRga 9

HifET |

L-15090 4

400

— o ——— p—

Time : Three Hours]

Roll No. " Total Pages : 04
BAQ/M-24 15090
PSYCHOLOGY
; Paper I
Psychopathology

[Maximum Marks : 60

Note : Attempt Five questions in all, selecting ore question

from each Unit. All questions carry equal marks.
ow THE ¥ TH VT T gl Bd U T %
SR AT 1 Td T B 3% wHE €

Unit I =% 1)

Write in detail about the cognitive model of
Psychopathology.

TRty fage @ SurrEs Hew & TR avi witeg |
Describe DSM classification in detail.
Huawm e & Tge e s |
Unit 11 (3618 1)
What is Phobia ? Explain its Symptoms and Causes.

SE® w9 T § 7 THh @eW Ud HRUN W AU
HINI |

(3-071) 1-15090 P.T.O.



What is Clinical Interview ? Explain it.
Yo WEEHER S9 © 2 9UM i |

Unit III 3&13 1IX)
What is Mood Disorders ? Explain the symptoms and

causes of unipolar Depression.
s R 71 ® ? U ydig R B AU G SR
o HIT |
What is Schizophrenia ? Expalin its types.
TifEea 0 & ? 3% FHR S T HISE |
Unit IV (3&75 1V)

What is Mental Retardation ? Explain its causes in detail.
AERES TR o € ? T &Rel # e e
HINT |
Give answer by selecting one of the alternatives :
T fodey & w9 & gl IW NN
(i) The fulll form of GA.D.

(a) Generalized Anxiety Disorders

(b) Genetic Anxiety Disorders

(¢) Generalized Acute Disorders

(d) None of the above

L-15090 2

(i)

(iif)

st w1 g W fafey .
(81) wvgn foa@ faen
() eongaifyer fo@ for
(W) =g 9E faeR
() Sydsd & ¥ ®E 7

Acrophobia is the tear of :

(a) Height (b) Closed Places
(c) Water (d) Sleeping
TEREE T §

(1) S9E H (F) @< wE H
(9) 9Ht = (x) Az =

Projective techniques are basically used to measure :
(a) Personality (b) Intelligence

(¢) Knowledge (d) Usefulness
geft fafipll Tem: feod Tl waiw o @ 2

(a1) =ferret (=) o=
(W) I (%) S
(ivy How many types of Interviews are are there ?

(a) Two (b) Three
(¢) Five (d) Four
AHEHR fhet TR & © 2
(a1 =« (a) =
() = (%) =

(3-07/2) L-15090 3 P.TO.
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BAQ/M-24 15094
FINE ARTS
Paper 1 (Theory)
History of Western Art
(A Brief Summary from Pre-historic to Broque)

Time : Three Hours] [Maximum Marke : 27

Note : Attempt any Five questions. All questions catry equal
marks.

sl wiwr Ul @ SWOdNY | uh v B s
R
1. What is Pre-historic Art 7 Write down the main theme of
prehistoric paintings.
TRt wel w1 ¢ ? Whienhs e W ge
Towe fafEm |
2. What is an Egyptian art ? What are the three periods of
the Egyptian art ?

fremen 71 € 2 fig 21 ool & 69 s sW 9§
3. Discuss the evolution of Greek sculpture from the Archaic

period to the Classical period, highlighting the key stylistic

changes and societal influences during these eras.

(3-06/7) L~15094 PT.0.



6.

Y FE ¥ s e 9 T qiiea w fame W
Ta W, = o @ W e de TRaed sk
ISR HE TR W =i |

What was the first Christian painting and write down the
four types of Christian art ?

weelt $OE YR @ W ot ? ok SuE wen B 4 WER
Tafem |

What is Gothic art known for and what are the
characteristics of high Gothic style ?

Tifeer wen frafe S Wl 8 eIk Sew it et @t
faeiyard == § 2

Why is it called Renaissance and why is Renaissance
called Dark Ages 7 Discuss the Period of Renaissance
with examples.

T YASRY] W@ T WK € SR QTSRO ) SHER g
w e W ¢ ? ROl e W I_mis ufvd ==
Hifg |

What was miost revolutionary about Masaccio's painting
and what mediums did Masaccio use ?

el s i ¥ wed wifeedl e o it Wt
& mreaet & SveERr e ?

L-15094 2

8.

10.

How does the Middle Renaissance differ from the Early
and High Renaissance periods in terms of art, culture.
and intellectual developments ?

Hell, Wepla ol difgw famrg & ool ¥ mwem g
YR R 9w G de ¥ %hd e £ 2

How did Titian's use of color and technique contribute to

the development of Renaissance art ?

fefemm & W SR GFE & ST ¥ TR FHel &
fomm ® S AFeE e 2

How did Tintoretto’s artistic techniques and use of light
confribute to the dramatic quality of his paintings ?

IS # worEs dEae 3R TER H ITE Y I9E
folt @ Tew e ¥ S dreE e 2

(3-06/8) 1.-15094 3 400
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Time ; Three Hours]

31249
BHQ/M-24
ENGLISH
(Modem British Literature-IT)
Paper : XIV

[Maximum Marks : 80

Note : Do as Directed,

1.

(a) Explain with the reference to the context :

The yellow fog that rubs its back upon the window-
panes,
The yellow smoke that rubs its muzzle on the
window-panes,
Licked its tongue into the corners of the evening,
Lingered upon the pools that stand in drains,
Let fall upon its back the soot that falls from
chimneys,
Slipped by the terrace, made a sudden leap,
And seeing that it was a soft October night,
Curled once about the house, and fell asleep.

OR
Do I dare
Disturb the universe?
In a minute there is time
For decisions and revisions which a minute will
reverse. . 6

31249/500/KD/825 %‘L{P.T.O.
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2.

(b) Mature at six; elephant at ten. While at thirteen a
man is not yet sexually mature; and is only fully
grown at twenty. Hence, of course, that fruit of
delayed development, the human intelligence.

(i) Name the novel and the writer?
(if) Why does the author say that human intelligence
is the fruit of delayed development?
(iii) Why does the author compares a human to an
¢lephant?
OR
A physical shortcoming could produce a kind
of mental excess. The process, it seemed, was
reversible. Mental excess could produce, for its
own purposes, the voluntary blindness and deafness
of deliberate solitude, the artificial impotence of
asceticism. '
(i) Name the novel and the writer.
(i) What does author imply by physical short-

coming?
(iii) How does physical shortcoming affect mental
growth? 6

“

Attempt any six short answer type questions :
() Comment on the tifle of the novel Brave New

World.

(i) Write a short note on the life in Reservation in the
novel.

(iii) Do you think the siory in the novel is believable?
Discuss.

31249/500/KD/825 2

4.

5.

(iv) Whiite a note on the caste system in the novel.

(v) What does “I have measured my life with coffee
spoons” mean in the novel?

(vi) What does yellow smoke symbolize in the poem?

(vil) Why does Eliot compare fog to a cat in the poem?

(viii) What is Prufrock’s fear in the poem?  (6x4=24)

Answer any #wo questions by selecting at least one

question from each unit

(i) Write an elaborate note on the images used by Eliot
in the poem.

(i) Write a note on the plot construction of the novel.

(iif) Do you think Huxley approves of the scientific
advancements in the novel? Discuss.  (2x7=14)

Review the many literary allusions, striking or unusual
figures of speech and images. What do they tend to
reflect about Prufrock’s nature?

OR.
Aftempt a critical appreciation of the poem, 15

Discuss Huxley’s novel as a dytopia.

OR
Write a critical note on the themes of Huxleys Brave
New world, 15

31249/500/KD/825 3
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31250
BHQ/M-24
ENGLISH
(Indian Writing in English-II)
Paper : XV
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting ore question
from each of the four Units. Question number 1 is
compulsory. All questions carry equal marks.

Compulsory Question
1.  Attempt all four questions in about 150 words each :
(a) Comment on the title of the story “Shroud”.
(b) Discuss the symbols used in Rabindra Nath Tagore’s
poems.
(¢) Comment on the role of Gandhari in Andha Yug.
(d) Attempt a brief character-sketch of Subhadra.
(Untouchable Spring). (6%4=24)

UNIT-I

2. "Gurdial Singh's ‘A Season of Neo Retum in Earthy
Tones’ is a story of inherent tension between soil and
space." Discuss.

OR
3. "Fakir Mohan Senapati’'s ‘Rebati’ advocates the issue of
female education.” Explain. (24)
31250/500/KD/608 {® [P.T.O.
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4.

5'

6.

7.

UNIT-II
Attempt a critical appreciation of Rabindra Nath Tagore’s
poems : “Light, Oh Where is the Light?”” and “When My
Play was with Thee”.
OR
Give an estimation of Amrita Pritam as a poet with
reference to “I Say Unto Waris Shah™. (24)

UNIT-IIU
Explain major themes of the play Andha Yug.
OR
Discuss the continuing relevance of Dharamveer Bharati’s
play Andha Yug for modern times. (24)

UNIT-IV

Untouchable Spring is a saga of endless struggle of
untouchables for seif-respect, equality and empowerment.
Discuss.

OR
Explain the importance of the marpinalized female
characters in the novel Unfouchable Spring. (24)
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ENGLISH
(Modern World Literature—II)
Paper : XVI
Time : Three Hours] [Maximum Marks : 80

Note : Attempt all questions.

1. Read the passage and answer the questions that follow.
Do any fwo passages :

@

At this point Akaky Akakievich saw that there
were no two about it : he would have to acquire
a new coat. He became utterly dejected. How in
fact was he going to pay for it-where would he find
the money? Of course he could rely parily on the
bonus he was due to receive for the holiday, but his
money ago been accounted for and apportioned for
other had long purposes. He needed new trousers,
and had to pay the shoemaker 2 long outstanding
hill for attaching new uppers to his old boots, he
had to order three new shirts fiom the seamstress
and two pairs of those undergarments which it is
regarded indecent to mention on the printed page.
In other words there would be nothing left of the
money, and even if the director ina fit of generosity

31251/500/KD/609 W& [P.T.O.
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®)

should give him forty-five or fifty instead of forty
rubles he would still only be left with a trifling
amount, a mere drop on the ocean of the price of
a greatcoat.

(i) Name the story and the writer.

(ify Why did Akaky need money?

(iif) Why was he feeling dejected?

(iv) Use trifle in sentence of your own.
Okonkwo's prosperity was visible in his household.
He had a large compound enclosed by a thick wall
of red earth. His own hut, or obi, stood immediately
behind the only gate in the red walls. Each of
his three wives had her own hut, which together
formed a half moon behind the obi. The barn was
built against one end of the red walls, and long
stacks of yam stood out prosperously in it. At the
opposite end of the compound was a shed for the
goats, and each wife built a small attachment to her
hut for the hens. Near the barn was a small house,
the 'medicine house' or shrine where Okonkwo
kept the wooden symbols of his personal god and
of his ancestral spirits. He worshipped them with
sacrifices of kola nut, food and palm-wine, and
offered prayers to them on behalf of himself, his
three wives and eight children.

(i) Name the story and the writer.?

(i) What was kept in the ‘medicine house?’

(iii)) What did Okonkwo offer to his Gods?

(iv) Use immediately in a sentence of your own.

31251/500/KD/609 2

(c) In ahouse, in a suburb, in a city, there were a man
and his wife who loved each other very much and
were living happily ever after. They had a little
boy, and they loved him very much. They had a
cat and a dog that the little boy loved very much.
They had a car and a caravan trailer for holidays,
and a swimming-pool which was fenced so that
the little boy and his playmates would not fall
in and drown. They had a housemaid who was
absolutely trustworthy and an itinerant gardener
who was highly recommended by the neighbours.
For when they began to live bappily ever after they
were warned, by that wise old witch, the husband's
mother, not to take on anyone off the sireet. They
were inscribed in a medical benefit society, their
pet dog was licensed, they were insured against
fire, flood damage and theft, and subscribed to the
local Neighbourhood Waich, which supplied them
with a plaque for their gates lettered YOU HAVE
BEEN WARNED over the silhouette of a would-
be intruder. He was masked; it could not be said
if he was black or white, and therefore proved the
property owner was no racist.

(i) Name the story and the writer.
(i) What proved that the property owner was not
a racist?
(iii) Who had recommended the gardener?
(iv) Use benefit in a sentence of your own.
(2x5=10)
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3.

Answer any five out of the seven questions by selecting
at least one question from each unit :
(a) () Comment on the setting of the story “The
guest™.
(if) Describe how the important personage met the
‘ghost’ of Akaky Akakievich,
(b) (i) Why did the villagers comb the hair of the
drowned man.
(ii) The writer does not give any names to the
characters in the story “Once upon a Time?”
Why does she do that.
(¢) (i) Comment on the type of economy portrayed
by Achebe in the novel?
(i) Write a brief character sketch of Nwoye.
(iii} Why a man who has been exiled from his
fatherland find refuge in his motherland
according to Ibo customs, (5%5=25)

Comment on the setting of Camus’s story. How does
the setting contribute to the emotional dilemma faced by
Daru., ;

OR
Write an elaborate note on the theme of the story “The
Greatcoat™.

What discoveries do the children, women, and men
make upon the arrival of the drowned man? What is the
significance of these discoveries in the story?

31251/500/KD/60° 4

OR
How does Gordimer subvert the conventions of the usual
children’s fiction in “Once upon a Time?”

5. Discuss Things fall Apart as a postcolonial novel.
OR
Chinua Achebe not only writes about the strengths of
the society, but he also exposes the superstitions and
weaknesses of the society. Discuss. (3x15=45)
31251/500/KD/609 5




4@W@m,wﬁml’%wm%ﬂ%
e # o A ¥2
(37) W
(=) ¥ie
(®) AR
(%) wiEl
(viii) In which ye
() 1928
(b) 1920
() 1918
@ 1911,
e F fort @ iR e T fe T
(1) 1928
(&) 1920
(|) 1918
(X) 1911.

ar women were given suffrage in England

(8x2=16)
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227 2, |  S—— Total Pages : 6
BHQ/M-24 31273
POLITICAL SCIENCE
(Comparative Constitutions of UK and USA)
Paper—I

Time : Three Houzs] [Maximum Marks : 80

Note : Attempt any five questions by selecting one question from
each unit. Question No. 9 is compulsory.

AT : T THR W U T W 9 S el uie o
% S R W wem o wifEd f)

UNIT-¥ ( 3oTE-1 )

1. Describe the main features of British Political Tradition. 16
Tofewr Toriifosr wo w1 g fagvaet = avl W

2.  Explain the role of conventions in the American Constitution.
16

i & gy § wowel W e % smen w3
UNIT-II ( Serms-I1 )

3. "The King can not do any wrong". In the light of this
statement explain the power and position of the British
Queen. 16

TS BE T W T W GHaT”) T W R TN
s g Tifem T oWt wfm ofk Rl @ smem
HifIC)
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4. Describe the composition and function of the American © 8
Supreme Coust. 16 , )
g ; : d) 50.
aifta ety = W wET T et oA .
WIR T o ® T W
T % g S
UNIT-I ( 375~ ) | et W W i
5. What do you understand about the Pressure Group? Describe (37) 13
1 ) (=) 20

the role of pressure groups in England.

< T R o T ¥ e B e W W | —_y
wftat &1 O HIG '
- (R) 50
6. Compare the British and American Party System. 16 : (il) When did the US
) : e constituti i
fafre @it TR TE wOmel W ger W | o5 T on come into force?
UNTT-1V (ERE-1V ) | ® 1779
. (c) 1803
7.  Describe the main features of British Bureaucracy. 16 ) 1950
e SewTd W sge el @ auE Hif
SRS T Wi Fe W] gam?
8. Discuss the recent trends in the American political system. (37) 1776
16
. ' () 1779
i o qorfe o § Sl A Wi w1 (
= W H) 1803
| (%) 1950
UNIT-V (3FR-V) |
(i) When was the limited o
9, (i) How many states were there in the United States of (@) 1688 monarchy established in England?
America at the time of its establishment?
(b) 1628
() 13 :
®) 20 (© 1215
(d 1911.
2 31273/200/KD/798 3
[P.T.O,
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e § Wifm ToRE W T we gf el SRR § T W W WA TR SauTh wRiee
(21) 1688 q R
(%) 1628 | (1) 228
(W) 1215 | (%) 13
(2) 1911 | (@) 219
(iv) What should be the minimum age of a person contesting J () 239
the presidential election in America? ] (vi) When was the Federal Election Commission formed in
(a) 30 Years ! America?
(b) 40 Years . (a) 1853
(¢) 35 Years . (b) 1948
(d 50 Years. ' © 1974
TR § U W oTE wey 98 i W | (@ 1954.

e ey e s =Rey? epfee ¥ O TE STEM W T8 %9 g’

(3 30 =¥ | (1) 1853
(%) 40 =9 ' (3) 1948 _
(W) 35 =9 " (|) 1974
(%) 50 | (%) 1954
(v) Which constitutional amendment abolished slavery in (vii) ‘Once a Speaker, Always a Speaker’ this statement is
America? about the Speaker of which country?
@ 22nd | () India
(b) 13th (b) England
(c) 21st . (c) America
(d) 23rd. : (d) France.
31273/200/KD/798 4 1 31273/200/K1>/798 5 [P.T.O.
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31274
BHQ/M-24
POLITICAL SCIENCE
(Intemational Organization)
Paper—1I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. All questions catry equal
marks.

HT : gE U T B IR A Tl Wl & ol wm
1. Describe the origin and growth of International

Organization, (16)
SRR We W1 S IR faww # faEE wifg)

2. Examine the vatrious causes of the origin of United
Nations. (16)

T U HT S o T Rl w1 Wi S

3. Describe the composition powers and functions of UN
Security Council. - (16)

WopeRT N AT TR, ST e, VRl SR e a faeer
gty

4, Explain the powers and position of UN Secretary
General. (16)
T T TerEiEa 1 vl S fefy w1 =en wifi

31274/200/KD/836 y[P-TO.
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5.

Discuss the role of UN towards peace keeping.  (16)
i Frefes 4 dgmm u = yfte w1 auie it
Explain the role of United Nations in peace making
PIocess. (16)
it fmfor st afear © dgem T F gfEE @t = Ren
Hifs|

What should be done for democratization of UN Systein?
Explain it. (16)
Y U R & YSIAR & faw w®r #'H Sor
TN Eifew? e Sy

Critically examine the working of UN System in changed
context. (16)
aeer wee! W e TS SIerel S Hrqoed & seem s
HHIET Fif

Objective type questions : (2x8=16)

TGS TR B WA ¢
(i) Who is father of Political Science?
(8) Karl Marx
(b) Piato
(c) Aristotle
(d) I1.S. Mill
Tt famm w1 fame | €2
(81) e A
(F) ==

(F) /&
() wwa. fhe

31274/200/KD/836 2

(ii) UN Day is celebrated on .....c........
(a) 24 October '
(b) 28 October
(c) 24 September
(d) 24 August.
(37) 24 IHER
(&) 28 IR
(9) 24 faa=R
(%) 24 IFTAl
(iif) When the League of Nations was established?
(& 1919
(b) 1920
(c) 1921
(d) 1922
T W hI I 9 g5 oi?
(e71) 1919
(=) 1920
(®) 1921
(2D 1922
(iv) How many articles are there in UN Charter?
(2 111
(b) 110
(c) 109
(d) 108.

31274/200/KD/836 3 [P



T T =X A R orgees #7 (vii) In which year the First Hague Convention was

(1) 111 held?
(=) 110 @ 1999
(®) 109 ) 1899
(%) 108. (c) 1799

(v} How many non-permanent members in UN Security (d) 1699.
Council? w2 Aty T oy oTEifsm gen on?
(@) 05 (37) 1999
() 10 (%) 1899
© 15 | (W) 1799
(c) 20. (%) 1699.
g T e IR A orurl w9 wen : (viii) "United for Peace" resolution was passed by UN in
et 87 which year?
(a1) 05 @ 1954
(@) 10 ) 1953
(@) 15 © 1952
(2) 20. | @ 1950.

(vi) Where is the Headquarter of International Court of “erite & Tae Tar TR SER T g e o
TJustice? o TRl ST 9n?
@ Higwe (37) 1954
- ek (%) 1953
(c) Paris
(d) New York. (F) 1952
e e W e wE T 27 (7) 1950.
(37) 3
(7) 7 foet
(¥) @
(%) g
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e R % T & ~araiferen g10 eI e
W W R A I AR B ST S 87
(=) faurdt fdteror

(@) =i s

() FEHG wften

CIRENEERSIE]

(viif) Which branch of government holds the power to
enact laws that regulate administrative actions?
(A) Execytive branch
(B) Legislative branch
(C) Tudicial branch
(D) Administrative branch.

TR ) - T WS e A At
wT TR T T W I T 2

(=) W e

(@) faurdr wmen

(M) = e

(=) FmEiR wE
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Roll No. ..o AEY— Total Pages : 6
31275
BHQ/M-24
POLITICAL SCIENCE
(Public Administration-IT)
Paper-III

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one guestion from
each unit. Question No. 9 is compulsory.

He . TE TEE Y UE U H 9 FE g, Fa U w
% TR G ¥ e 9 wfed B

UNIT-1 (FE-D)
1.  Critically examine Max Weber's bureaucratic theory. 16
Horm 3R & TRl Tagls =Y Snare-wEr THig Hifs)
OR (&7&1E)
3. What do you understand by administrative responsibility?
Desctibe the different types of administrative responsi-

bility. 16
TR SOl @ &Y I TR B W SR
= Tafirs gl w1 9vM i)
UNTT-II (3E-11)
3,  What is recruitment? Critically review the different types
of recruifment. 16
31275/200/KD/841 .]}% [P.T.O.
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6.

i R wRd 87w @ ol Ten W s
HtET A

OR (3195 1)
What is training? Describe the importance of training in
administration. 16
wierr s 7 wEnes § e & wew @ avig Hifw)

UNIT-TI (gehTs-1iH)
What do you understand by budget? Describe the process
of budget preparation.
e | Y T WRE 22 woe % Ffer ) i @ awiy
ST
QR (372rT)

Write a note on the method of execution of budget in
India. '

I H oo @ fearemn w5 B w A Rl

UNIT-IV (SeT5-EV)
Mention in detail the means of Legislative control over
administration.
T R AR e @ e @ fan se Wl

OR (1eren)

Discuss in detail the importance of public administration
in the eta of globalization.
Ayt B g F Wi YN ® Aew W e w9

31275/200/KD/841 2

90.
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Compulsory Question ( 3TFEE W7T)

@

(i)

(2x8=16)
Which of the following is 4 key characteristic of
Max Weber's ideal type bureaucracy model?

(A) Centralized decision-making

(B) Informal organizational structure

(C) Flexible rules and regulations

(D) Hietarchical authority structure.

frfafed 4 @ R A50 R & e wER &
A wiew ®1 vg@ R 82 '

(o) wEFa o o

(@) SRR TSR Wl

(1) e fem iR e

(¥) TG MR SO

What form of accountability focuses on the
obligation of publi¢ officials to report on their
actions and decisiens to higher authorities or
governing bodies?

(A) Horizontal accountability

(B) Vertical accouyntability

(C) Social accountability

(D) Internal accountability.

WERE! R HIE-H E HEWtE il § o
FE R FolE @ am N e witemfel @ o
et RO w0 B i T 82

(%) iffm SERE -

(@) e et

(1) EHAITR SRl

() effafer sEEsEh
P.T.O.



(i) Which rectuitment method involves hiring

individuals from outside the organization to fill
vacant positions?

{A) Internal rectuitmént

(B) External recryitment

(C) Referral recruitment

(D) Campus recruitinent.

g el Teft ¥ e W A e W =
R © St @ R SO e 87

() STaiem S

(@) s et

(1) Ywta ot

() HFE o

(iv) How many methods of promotion are mainly

available?

(A) One

B) Two

(C) Thres

(D) Four.

Ter w9 ¥ TR W el RbE ST €2
(Z)=

(@)

()

(&) =l
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(v) When was the budget introduced in India?

(A) 1860

(B) 1919

(C) 1947

(D) 1950.

g § e e I TR T 912
(&) 1860

(") 1919 )

() 1947

(&) 1950,

{vi) When does the financial year begin in India?

(A) April 1st to March 31st

(B) January 1st to December 31st

(C) July lst to June 30th

(D) October 1st to September 30th.
aig § fadie od w9 e o 22

()1 st & 31 wrd O

(@)1 S8 € 31 RER ©&

(M) 1 YO § 30 SH T

(9) 1 oFRER © 30 TiRER )

(vii) Which form of control involves the examination

and evaluation of administrative actions by
the judiciary to ensure they comply with legal
standards?

(A) Legislative oversight

(B) Judicial review

(C) Executive supervision

(D) Public scrutiny.
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